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ɺɺɽɼɽʅʀɽ 

 

ɼʘʥʥʦʝ ʧʦʩʦʙʠʝ ʧʨʝʜʥʘʟʥʘʯʝʥʦ ʜʣʷ ʧʦʜʛʦʪʦʚʢʠ ʢ ʨʝʰʝʥʠʶ ʟʘʜʘʯ 

ɽɻʕ ʧʦ ʤʘʪʝʤʘʪʠʢʝ. ɽʛʦ ʮʝʣʷʤʠ ʷʚʣʷʶʪʩʷ: 

ï ʧʦʢʘʟ ʧʨʠʤʝʨʥʦʡ ʪʝʤʘʪʠʢʠ ʠ ʫʨʦʚʥʷ ʪʨʫʜʥʦʩʪʠ ʟʘʜʘʯ, ʚʢʣʶʯʸʥʥʳʭ 

ʚ ʩʦʜʝʨʞʘʥʠʝ ɽɻʕ ʧʦ ʤʘʪʝʤʘʪʠʢʝ; 

ï ʨʘʟʚʠʪʠʝ ʧʨʝʜʩʪʘʚʣʝʥʠʡ ʫʯʘʱʠʭʩʷ ʦʙ ʦʩʥʦʚʥʳʭ ʵʣʝʤʝʥʪʘʨʥʳʭ 

ʬʫʥʢʮʠʷʭ ʠ ʠʭ ʛʨʘʬʠʢʘʭ; 

ï ʧʨʦʚʝʨʢʘ ʢʘʯʝʩʪʚʘ ʟʥʘʥʠʡ ʠ ʫʤʝʥʠʡ ʫʯʘʱʠʭʩʷ ʧʦ ʤʘʪʝʤʘʪʠʢʝ, ʠʭ 

ʛʦʪʦʚʥʦʩʪʴ ʢ ʩʜʘʯʝ ɽɻʕ. 

ʇʦʩʦʙʠʝ ʩʦʜʝʨʞʠʪ ʟʘʜʘʯʠ ʨʘʟʣʠʯʥʦʛʦ ʫʨʦʚʥʷ ʪʨʫʜʥʦʩʪʠ ʥʘ 

ʠʟʦʙʨʘʞʝʥʠʝ ʠ ʨʘʩʧʦʟʥʘʚʘʥʠʝ ʛʨʘʬʠʢʦʚ ʵʣʝʤʝʥʪʘʨʥʳʭ ʬʫʥʢʮʠʡ. ʆʥʦ 

ʧʨʦʚʝʨʷʝʪ ʫʤʝʥʠʷ ʫʯʘʱʠʭʩʷ ʠʟʦʙʨʘʞʘʪʴ ʠ ʨʘʩʧʦʟʥʘʚʘʪʴ ʛʨʘʬʠʢʠ ʬʫʥʢʮʠʡ, 

ʧʨʦʠʟʚʦʜʠʪʴ ʦʧʝʨʘʮʠʠ ʥʘʜ ʬʫʥʢʮʠʷʤʠ ʠ ʠʭ ʛʨʘʬʠʢʘʤʠ. 

ɼʣʷ ʫʩʧʝʰʥʦʛʦ ʚʳʧʦʣʥʝʥʠʷ ʧʨʝʜʣʘʛʘʝʤʳʭ ʟʘʜʘʯ ʪʨʝʙʫʶʪʩʷ ʟʥʘʥʠʷ 

ʦʩʥʦʚʥʳʭ ʦʧʨʝʜʝʣʝʥʠʡ, ʩʚʦʡʩʪʚ ʠ ʪʝʦʨʝʤ ʢʫʨʩʘ ʘʣʛʝʙʨʳ ʠ ʥʘʯʘʣ 

ʤʘʪʝʤʘʪʠʯʝʩʢʦʛʦ ʘʥʘʣʠʟʘ, ʦʪʥʦʩʷʱʠʭʩʷ ʢ ʦʩʥʦʚʥʳʤ ʵʣʝʤʝʥʪʘʨʥʳʤ 

ʬʫʥʢʮʠʷʤ, ʫʤʝʥʠʷ ʨʘʙʦʪʘʪʴ ʩ ʨʠʩʫʥʢʘʤʠ ʠ ʚʳʧʦʣʥʷʪʴ ʧʨʝʦʙʨʘʟʦʚʘʥʠʷ 

ʛʨʘʬʠʢʦʚ. 

ɺʥʘʯʘʣʝ ʧʨʠʚʝʜʝʥʳ ʥʝʢʦʪʦʨʳʝ ʩʚʝʜʝʥʠʷ ʦ ʛʨʘʬʠʢʘʭ ʦʩʥʦʚʥʳʭ 

ʵʣʝʤʝʥʪʘʨʥʳʭ ʬʫʥʢʮʠʡ. ɿʘʪʝʤ ʧʨʝʜʣʘʛʘʶʪʩʷ ʜʚʝ ʜʠʘʛʥʦʩʪʠʯʝʩʢʠʝ ʨʘʙʦʪʳ, 

ʩʦʜʝʨʞʘʱʠʝ ʟʘʜʘʯʠ ʥʘ ʠʟʦʙʨʘʞʝʥʠʝ ʠ ʨʘʩʧʦʟʥʘʚʘʥʠʝ ʛʨʘʬʠʢʦʚ ʬʫʥʢʮʠʡ 

ʨʘʟʣʠʯʥʳʭ ʪʠʧʦʚ. ɼʣʷ ʟʘʢʨʝʧʣʝʥʠʷ ʤʝʪʦʜʦʚ ʨʝʰʝʥʠʷ ʟʘʜʘʯ ʜʘʶʪʩʷ  

ʪʨʝʥʠʨʦʚʦʯʥʳʝ ʨʘʙʦʪʳ, ʢʘʞʜʘʷ ʠʟ ʢʦʪʦʨʳʭ ʩʦʜʝʨʞʠʪ ʟʘʜʘʯʠ ʦʜʥʦʛʦ ʪʠʧʘ. 

ɺ ʩʣʫʯʘʝ ʫʩʧʝʰʥʦʛʦ ʨʝʰʝʥʠʷ ʵʪʠʭ ʟʘʜʘʯ ʤʦʞʥʦ ʧʝʨʝʭʦʜʠʪʴ ʢ ʚʳʧʦʣʥʝʥʠʶ 

ʟʘʢʣʶʯʠʪʝʣʴʥʳʭ ʜʠʘʛʥʦʩʪʠʯʝʩʢʠʭ ʨʘʙʦʪ, ʩʦʜʝʨʞʘʱʠʭ ʟʘʜʘʯʠ ʨʘʟʥʳʭ 

ʪʠʧʦʚ. 

ɿʘʜʘʯʠ ʩʦʧʨʦʚʦʞʜʘʶʪʩʷ ʨʠʩʫʥʢʘʤʠ, ʧʦʟʚʦʣʷʶʱʠʤʠ ʣʫʯʰʝ ʧʦʥʷʪʴ 

ʠʭ ʫʩʣʦʚʠʷ, ʧʨʝʜʩʪʘʚʠʪʴ ʩʦʦʪʚʝʪʩʪʚʫʶʱʠʝ ʩʠʪʫʘʮʠʠ, ʥʘʤʝʪʠʪʴ ʧʣʘʥ 

ʨʝʰʝʥʠʷ, ʧʨʠ ʥʝʦʙʭʦʜʠʤʦʩʪʠ ʧʨʦʚʝʩʪʠ ʜʦʧʦʣʥʠʪʝʣʴʥʳʝ ʧʦʩʪʨʦʝʥʠʷ ʠ 

ʚʳʯʠʩʣʝʥʠʷ. 

ɺ ʢʦʥʮʝ ʧʦʩʦʙʠʷ ʜʘʥʳ ʦʪʚʝʪʳ ʢʦ ʚʩʝʤ ʟʘʜʘʯʘʤ.  

ʆʪʤʝʪʠʤ, ʯʪʦ ʣʫʯʰʠʤ ʩʧʦʩʦʙʦʤ ʧʦʜʛʦʪʦʚʢʠ ʢ ɽɻʕ ʧʦ ʤʘʪʝʤʘʪʠʢʝ 

ʷʚʣʷʶʪʩʷ ʩʠʩʪʝʤʘʪʠʯʝʩʢʠʝ ʟʘʥʷʪʠʷ ʧʦ ʫʯʝʙʥʠʢʫ. ɼʘʥʥʦʝ ʧʦʩʦʙʠʝ ʥʝ 

ʟʘʤʝʥʷʝʪ ʫʯʝʙʥʠʢʘ. ʆʥʦ ʤʦʞʝʪ ʙʳʪʴ ʠʩʧʦʣʴʟʦʚʘʥʦ ʚ ʢʘʯʝʩʪʚʝ 

ʜʦʧʦʣʥʠʪʝʣʴʥʦʛʦ ʩʙʦʨʥʠʢʘ ʟʘʜʘʯ ʧʨʠ ʠʟʫʯʝʥʠʠ ʘʣʛʝʙʨʳ ʠ ʥʘʯʘʣ 

ʤʘʪʝʤʘʪʠʯʝʩʢʦʛʦ ʘʥʘʣʠʟʘ ʚ 10-11 ʢʣʘʩʩʘʭ, ʘ ʪʘʢʞʝ ʧʨʠ ʦʨʛʘʥʠʟʘʮʠʠ 

ʦʙʦʙʱʘʶʱʝʛʦ ʧʦʚʪʦʨʝʥʠʷ ʠʣʠ ʧʨʠ ʩʘʤʦʩʪʦʷʪʝʣʴʥʳʭ ʟʘʥʷʪʠʷʭ ʧʦ 

ʤʘʪʝʤʘʪʠʢʝ. 
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ʉɺɽɼɽʅʀʗ ʆ ɻʈɸʌʀʂɸʍ 

 

ʆʩʥʦʚʥʳʝ ʵʣʝʤʝʥʪʘʨʥʳʝ ʬʫʥʢʮʠʠ ʠ ʠʭ ʛʨʘʬʠʢʠ 

 1. ʃʠʥʝʡʥʘʷ ʬʫʥʢʮʠʷ y = kx + b, ʛʜʝ k ʠ b ï ʜʝʡʩʪʚʠʪʝʣʴʥʳʝ ʯʠʩʣʘ. 

ʅʘ ʨʠʩʫʥʢʝ ʠʟʦʙʨʘʞʸʥ ʛʨʘʬʠʢ ʬʫʥʢʮʠʠ y = 2x ï 1. 

 

 
 

 

2. ʉʪʝʧʝʥʥʘʷ ʬʫʥʢʮʠʷ ʩ ʥʘʪʫʨʘʣʴʥʳʤ ʧʦʢʘʟʘʪʝʣʝʤ y = ax
n
, ʛʜʝ a ï  

ʜʝʡʩʪʚʠʪʝʣʴʥʦʝ ʯʠʩʣʦ, 0a¸ , n ï ʥʘʪʫʨʘʣʴʥʦʝ ʯʠʩʣʦ. ʅʘ ʨʠʩʫʥʢʝ 

ʠʟʦʙʨʘʞʝʥʳ ʛʨʘʬʠʢʠ ʬʫʥʢʮʠʡ: ʘ) y = x
2
; ʙ) y = x

3
; ʚ) y = x

4
. 
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3. ʉʪʝʧʝʥʥʘʷ ʬʫʥʢʮʠʷ ʩ ʮʝʣʳʤ ʦʪʨʠʮʘʪʝʣʴʥʳʤ ʧʦʢʘʟʘʪʝʣʝʤ y = 

ax
m
, ʛʜʝ a ï  ʜʝʡʩʪʚʠʪʝʣʴʥʦʝ ʯʠʩʣʦ, 0a¸ , m ï ʮʝʣʦʝ ʦʪʨʠʮʘʪʝʣʴʥʦʝ 

ʯʠʩʣʦ. ʅʘ ʨʠʩʫʥʢʝ ʠʟʦʙʨʘʞʝʥʳ ʛʨʘʬʠʢʠ ʬʫʥʢʮʠʡ: ʘ) y = x
-1
; ʙ) y = x

-2
; ʚ) 

y = x
-3
. 

 

 

4. ʉʪʝʧʝʥʥʘʷ ʬʫʥʢʮʠʷ ʩ ʜʨʦʙʥʳʤ ʧʦʢʘʟʘʪʝʣʝʤ 

p

qy ax= , ʛʜʝ a ï  

ʜʝʡʩʪʚʠʪʝʣʴʥʦʝ ʯʠʩʣʦ, 0a¸ , p ï ʮʝʣʦʝ ʯʠʩʣʦ, q ï ʥʘʪʫʨʘʣʴʥʦʝ ʯʠʩʣʦ. ʅʘ 

ʨʠʩʫʥʢʝ ʠʟʦʙʨʘʞʝʥʳ ʛʨʘʬʠʢʠ ʬʫʥʢʮʠʡ: ʘ)
1

2y x= ; ʙ) 
1

3y x= ; ʚ) 
1

4y x= . 
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5. ʇʦʢʘʟʘʪʝʣʴʥʘʷ ʬʫʥʢʮʠʷ y = a
x
, ʛʜʝ a ï ʧʦʣʦʞʠʪʝʣʴʥʦʝ ʯʠʩʣʦ, 

1a¸. ʅʘ ʨʠʩʫʥʢʝ ʠʟʦʙʨʘʞʸʥ ʛʨʘʬʠʢ ʬʫʥʢʮʠʠ y = 2
x
. 

 

 

 
 

 

6. ʃʦʛʘʨʠʬʤʠʯʝʩʢʘʷ ʬʫʥʢʮʠʷ logay x= , ʛʜʝ a ï ʧʦʣʦʞʠʪʝʣʴʥʦʝ 

ʯʠʩʣʦ, 1a¸. ʅʘ ʨʠʩʫʥʢʝ ʠʟʦʙʨʘʞʸʥ ʛʨʘʬʠʢ ʬʫʥʢʮʠʠ 2logy x= . 

 

 

 
 

 

 

 

 

 



 6 

7. ʊʨʠʛʦʥʦʤʝʪʨʠʯʝʩʢʠʝ ʬʫʥʢʮʠʠ: ʘ) y = sin x; ʙ) y = cos x; ʚ) y = tg 

x. ʅʘ ʨʠʩʫʥʢʝ ʠʟʦʙʨʘʞʝʥʳ ʛʨʘʬʠʢʠ ʵʪʠʭ ʬʫʥʢʮʠʡ. 

 

 

 

 

ɻʨʘʬʠʢʠ ʥʘ ʧʣʦʩʢʦʩʪʠ ʤʦʛʫʪ ʟʘʜʘʚʘʪʴʩʷ ʫʨʘʚʥʝʥʠʝʤ ʚʠʜʘ f(x, y) = 0.  

8. ʅʘʧʨʠʤʝʨ, ʫʨʘʚʥʝʥʠʝ 2 2 2

0 0( ) ( ) 0x x y y R- + - - = ʟʘʜʘʸʪ 

ʦʢʨʫʞʥʦʩʪʴ ʩ ʮʝʥʪʨʦʤ ʚ ʪʦʯʢʝ O(x0, y0) ʠ ʨʘʜʠʫʩʦʤ R.  
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9. ʋʨʘʚʥʝʥʠʝ 
2 2

2 2
1

x y

a b
+ = ʟʘʜʘʸʪ ʵʣʣʠʧʩ. ʅʘ ʨʠʩʫʥʢʝ ʠʟʦʙʨʘʞʸʥ 

ʵʣʣʠʧʩ, ʟʘʜʘʚʘʝʤʳʡ ʫʨʘʚʥʝʥʠʝʤ 
2

2 1
4

x
y+ =. 

 

 

 
 

10. ʋʨʘʚʥʝʥʠʝ 
2 2

2 2
1

x y

a b
- = ʟʘʜʘʸʪ ʛʠʧʝʨʙʦʣʫ. ʅʘ ʨʠʩʫʥʢʝ 

ʠʟʦʙʨʘʞʝʥʘ ʛʠʧʝʨʙʦʣʘ, ʟʘʜʘʚʘʝʤʘʷ ʫʨʘʚʥʝʥʠʝʤ x
2
 ï y

2
 = 1. 
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ʇʨʝʦʙʨʘʟʦʚʘʥʠʷ ʛʨʘʬʠʢʦʚ 

11. ɻʨʘʬʠʢ ʬʫʥʢʮʠʠ y = ïf(x) ʩʠʤʤʝʪʨʠʯʝʥ ʛʨʘʬʠʢʫ ʬʫʥʢʮʠʠ y = 

f(x) ʦʪʥʦʩʠʪʝʣʴʥʦ ʦʩʠ Ox. ʅʘ ʨʠʩʫʥʢʝ ʠʟʦʙʨʘʞʸʥ ʛʨʘʬʠʢ ʬʫʥʢʮʠʠ 

2xy=-. ʆʥ ʧʦʣʫʯʘʝʪʩʷ ʩʠʤʤʝʪʨʠʝʡ ʛʨʘʬʠʢʘ ʬʫʥʢʮʠʠ 2xy=  

ʦʪʥʦʩʠʪʝʣʴʥʦ ʦʩʠ Ox. 

 

 

 
 

 

12. ɻʨʘʬʠʢ ʬʫʥʢʮʠʠ y = f(ïx) ʩʠʤʤʝʪʨʠʯʝʥ ʛʨʘʬʠʢʫ ʬʫʥʢʮʠʠ y = 

f(x) ʦʪʥʦʩʠʪʝʣʴʥʦ ʦʩʠ Oy. ʅʘ ʨʠʩʫʥʢʝ ʠʟʦʙʨʘʞʸʥ ʛʨʘʬʠʢ ʬʫʥʢʮʠʠ 

2 xy -= . ʆʥ ʧʦʣʫʯʘʝʪʩʷ ʩʠʤʤʝʪʨʠʝʡ ʛʨʘʬʠʢʘ ʬʫʥʢʮʠʠ 2xy=  

ʦʪʥʦʩʠʪʝʣʴʥʦ ʦʩʠ Oy. 
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13. ɻʨʘʬʠʢ ʬʫʥʢʮʠʠ y = f(|x|) ʜʣʷ ʥʝʦʪʨʠʮʘʪʝʣʴʥʳʭ x ʩʦʚʧʘʜʘʝʪ ʩ 

ʛʨʘʬʠʢʦʤ ʬʫʥʢʮʠʠ y = f(x), ʘ ʜʣʷ ʦʪʨʠʮʘʪʝʣʴʥʳʭ x ʩʦʚʧʘʜʘʝʪ ʩ ʛʨʘʬʠʢʦʤ 

ʬʫʥʢʮʠʠ y = f(ïx). ʅʘ ʨʠʩʫʥʢʝ ʠʟʦʙʨʘʞʸʥ ʛʨʘʬʠʢ ʬʫʥʢʮʠʠ | |2xy= .  

 

 
 

 
 

 

 

14. ɻʨʘʬʠʢ ʬʫʥʢʮʠʠ y = |f(x)| ʜʣʷ ʥʝʦʪʨʠʮʘʪʝʣʴʥʳʭ y ʩʦʚʧʘʜʘʝʪ ʩ 

ʛʨʘʬʠʢʦʤ ʬʫʥʢʮʠʠ y = f(x), ʘ ʜʣʷ ʦʪʨʠʮʘʪʝʣʴʥʳʭ y ʩʦʚʧʘʜʘʝʪ ʩ ʛʨʘʬʠʢʦʤ 

ʬʫʥʢʮʠʠ y = ïf(x). ʅʘ ʨʠʩʫʥʢʝ ʠʟʦʙʨʘʞʸʥ ʛʨʘʬʠʢ ʬʫʥʢʮʠʠ 2| log |y x= .  
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15. ɻʨʘʬʠʢ ʬʫʥʢʮʠʠ y = f(x) + b ʧʦʣʫʯʘʝʪʩʷ ʩʜʚʠʛʦʤ ʛʨʘʬʠʢʘ 

ʬʫʥʢʮʠʠ y = f(x) ʚʜʦʣʴ ʦʩʠ Oy ʥʘ b. ʅʘ ʨʠʩʫʥʢʝ ʠʟʦʙʨʘʞʸʥ ʛʨʘʬʠʢ 

ʬʫʥʢʮʠʠ y = sin x + 1. ʆʥ ʧʦʣʫʯʘʝʪʩʷ ʩʜʚʠʛʦʤ ʛʨʘʬʠʢʘ ʬʫʥʢʮʠʠ y = sin x 

ʚʜʦʣʴ ʦʩʠ Oy ʥʘ 1. 

 

 

 

16. ɻʨʘʬʠʢ ʬʫʥʢʮʠʠ y = f(x+a) ʧʦʣʫʯʘʝʪʩʷ ʩʜʚʠʛʦʤ ʛʨʘʬʠʢʘ 

ʬʫʥʢʮʠʠ y = f(x) ʚʜʦʣʴ ʦʩʠ Ox ʥʘ ïa. ʅʘ ʨʠʩʫʥʢʝ ʠʟʦʙʨʘʞʸʥ ʛʨʘʬʠʢ 

ʬʫʥʢʮʠʠ y = sin(x + 1). ʆʥ ʧʦʣʫʯʘʝʪʩʷ ʩʜʚʠʛʦʤ ʛʨʘʬʠʢʘ ʬʫʥʢʮʠʠ y = sin 

x ʚʜʦʣʴ ʦʩʠ Ox ʥʘ ï1. 
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17. ɻʨʘʬʠʢ ʬʫʥʢʮʠʠ y = kf(x) ʧʦʣʫʯʘʝʪʩʷ ʨʘʩʪʷʞʝʥʠʝʤ, ʝʩʣʠ k > 1, 

ʠʣʠ ʩʞʘʪʠʝʤ, ʝʩʣʠ k < 1, ʛʨʘʬʠʢʘ ʬʫʥʢʮʠʠ y = f(x) ʚʜʦʣʴ ʦʩʠ Oy. ʅʘ 

ʨʠʩʫʥʢʝ ʠʟʦʙʨʘʞʸʥ ʛʨʘʬʠʢ ʬʫʥʢʮʠʠ y = 2sin x. ʆʥ ʧʦʣʫʯʘʝʪʩʷ 

ʨʘʩʪʷʞʝʥʠʝʤ ʛʨʘʬʠʢʘ ʬʫʥʢʮʠʠ y = sin x ʚʜʦʣʴ ʦʩʠ Oy ʚ 2 ʨʘʟʘ. 

 

 

 

 

18. ɻʨʘʬʠʢ ʬʫʥʢʮʠʠ 
x

y f
l

å õ
= æ ö
ç ÷

 ʧʦʣʫʯʘʝʪʩʷ ʩʞʘʪʠʝʤ, ʝʩʣʠ l > 1, ʠʣʠ 

ʨʘʩʪʷʞʝʥʠʝʤ, ʝʩʣʠ l < 1, ʛʨʘʬʠʢʘ ʬʫʥʢʮʠʠ y = f(x) ʚʜʦʣʴ ʦʩʠ Ox. ʅʘ 

ʨʠʩʫʥʢʝ ʠʟʦʙʨʘʞʸʥ ʛʨʘʬʠʢ ʬʫʥʢʮʠʠ y = sin 2x. ʆʥ ʧʦʣʫʯʘʝʪʩʷ ʩʞʘʪʠʝʤ 

ʛʨʘʬʠʢʘ ʬʫʥʢʮʠʠ y = sin x ʚʜʦʣʴ ʦʩʠ Ox ʚ 2 ʨʘʟʘ. 
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ɻʨʘʬʠʢʠ ʚ ʧʦʣʷʨʥʳʭ ʢʦʦʨʜʠʥʘʪʘʭ* 

ʇʫʩʪʴ ʥʘ ʧʣʦʩʢʦʩʪʠ ʟʘʜʘʥʘ ʢʦʦʨʜʠʥʘʪʥʘʷ ʧʨʷʤʘʷ ʩ ʚʳʜʝʣʝʥʥʦʡ 

ʪʦʯʢʦʡ ʆ ʠ ʝʜʠʥʠʯʥʳʤ ʦʪʨʝʟʢʦʤ ʆɽ. ʕʪʘ ʧʨʷʤʘʷ ʚ ʜʘʥʥʦʤ ʩʣʫʯʘʝ ʙʫʜʝʪ 

ʥʘʟʳʚʘʪʴʩʷ ʧʦʣʷʨʥʦʡ ʦʩʴʶ. ʊʦʯʢʘ O ʥʘʟʳʚʘʝʪʩʷ ʧʦʣʶʩʦʤ.  

 
ʇʦʣʷʨʥʳʤʠ ʢʦʦʨʜʠʥʘʪʘʤʠ ʪʦʯʢʠ ɸ ʥʘ ʧʣʦʩʢʦʩʪʠ ʩ ʟʘʜʘʥʥʦʡ 

ʧʦʣʷʨʥʦʡ ʦʩʴʶ ʥʘʟʳʚʘʝʪʩʷ ʧʘʨʘ (r, j), ʛʜʝ r - ʨʘʩʩʪʦʷʥʠʝ ʦʪ ʪʦʯʢʠ ɸ ʜʦ 

ʪʦʯʢʠ ʆ, j - ʫʛʦʣ ʤʝʞʜʫ ʧʦʣʷʨʥʦʡ ʦʩʴʶ ʠ ʚʝʢʪʦʨʦʤ OA, ʦʪʩʯʠʪʳʚʘʝʤʳʡ 

ʚ ʥʘʧʨʘʚʣʝʥʠʠ ʧʨʦʪʠʚ ʯʘʩʦʚʦʡ ʩʪʨʝʣʢʠ, ʝʩʣʠ j > 0, ʠ ʧʦ ʯʘʩʦʚʦʡ ʩʪʨʝʣʢʝ, 

ʝʩʣʠ j < 0. 

ʇʨʠ ʵʪʦʤ ʧʝʨʚʘʷ ʢʦʦʨʜʠʥʘʪʘ r ʥʘʟʳʚʘʝʪʩʷ ʧʦʣʷʨʥʳʤ ʨʘʜʠʫʩʦʤ, ʘ 

ʚʪʦʨʘʷ j - ʧʦʣʷʨʥʳʤ ʫʛʣʦʤ. ʇʦʣʷʨʥʳʡ ʫʛʦʣ j ʤʦʞʥʦ ʟʘʜʘʚʘʪʴ ʚ 

ʛʨʘʜʫʩʘʭ ʠʣʠ ʨʘʜʠʘʥʘʭ. 

ɽʩʣʠ ʥʘ ʧʣʦʩʢʦʩʪʠ ʟʘʜʘʥʘ ʜʝʢʘʨʪʦʚʘ ʩʠʩʪʝʤʘ ʢʦʦʨʜʠʥʘʪ, ʪʦ ʦʙʳʯʥʦ 

ʟʘ ʧʦʣʶʩ ʧʨʠʥʠʤʘʝʪʩʷ ʥʘʯʘʣʦ ʢʦʦʨʜʠʥʘʪ ʠ ʟʘ ʧʦʣʷʨʥʫʶ ʦʩʴ ï ʦʩʴ Ox. ɺ 

ʵʪʦʤ ʩʣʫʯʘʝ ʢʘʞʜʦʡ ʪʦʯʢʝ ʧʣʦʩʢʦʩʪʠ ʩ ʜʝʢʘʨʪʦʚʳʤʠ ʢʦʦʨʜʠʥʘʪʘʤʠ (x, y) 

ʤʦʞʥʦ ʩʦʧʦʩʪʘʚʠʪʴ ʧʦʣʷʨʥʳʝ ʢʦʦʨʜʠʥʘʪʳ (r, j).  

ʇʨʠ ʵʪʦʤ ʜʝʢʘʨʪʦʚʳ ʢʦʦʨʜʠʥʘʪʳ ʚʳʨʘʞʘʶʪʩʷ ʯʝʨʝʟ ʧʦʣʷʨʥʳʝ ʧʦ 

ʬʦʨʤʫʣʘʤ: 

cos ,

sin .

x r

y r

= jë
ì
= jí

 

ʅʘʦʙʦʨʦʪ, ʧʦʣʷʨʥʳʝ ʢʦʦʨʜʠʥʘʪʳ ʚʳʨʘʞʘʶʪʩʷ ʯʝʨʝʟ ʜʝʢʘʨʪʦʚʳ ʧʦ 

ʬʦʨʤʫʣʘʤ: 

22 yxr += , 
2 2

cos
x

x y
j=

+
,  

2 2
sin

y

x y
j=

+
. 

ʇʦʣʷʨʥʳʝ ʢʦʦʨʜʠʥʘʪʳ ʦʢʘʟʳʚʘʶʪʩʷ ʫʜʦʙʥʳʤʠ ʜʣʷ ʟʘʜʘʥʠʷ  

ʢʨʠʚʳʭ  ʥʘ ʧʣʦʩʢʦʩʪʠ, ʦʩʦʙʝʥʥʦ ʜʣʷ ʟʘʜʘʥʠʷ ʨʘʟʣʠʯʥʳʭ ʩʧʠʨʘʣʝʡ. 

ʈʘʩʩʤʦʪʨʠʤ ʥʝʢʦʪʦʨʳʝ ʠʟ ʪʘʢʠʭ ʢʨʠʚʳʭ. 

19. ʆʢʨʫʞʥʦʩʪʴ ʨʘʜʠʫʩʘ R ʩ ʮʝʥʪʨʦʤ ʚ ʪʦʯʢʝ ʆ ʟʘʜʘʸʪʩʷ ʫʨʘʚʥʝʥʠʝʤ 

r = R. 

ɼʝʡʩʪʚʠʪʝʣʴʥʦ, ʦʢʨʫʞʥʦʩʪʴ ʷʚʣʷʝʪʩʷ ʛʝʦʤʝʪʨʠʯʝʩʢʠʤ ʤʝʩʪʦʤ ʪʦʯʝʢ, 

ʫʜʘʣʸʥʥʳʭ ʦʪ ʪʦʯʢʠ ʆ ʥʘ ʨʘʩʩʪʦʷʥʠʝ R. ɺʩʝ ʪʘʢʠʝ ʪʦʯʢʠ ʫʜʦʚʣʝʪʚʦʨʷʶʪ 

ʨʘʚʝʥʩʪʚʫ r = R. ʇʨʠ ʵʪʦʤ, ʝʩʣʠ ʫʛʦʣ j ʫʚʝʣʠʯʠʚʘʝʪʩʷ, ʪʦ ʩʦʦʪʚʝʪʩʪʚʫʶ-
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ʱʘʷ ʪʦʯʢʘ ʥʘ ʦʢʨʫʞʥʦʩʪʠ ʜʚʠʞʝʪʩʷ ʚ ʥʘʧʨʘʚʣʝʥʠʠ ʧʨʦʪʠʚ ʯʘʩʦʚʦʡ 

ʩʪʨʝʣʢʠ, ʦʧʠʩʳʚʘʷ ʢʨʫʛʠ. ɽʩʣʠ ʞʝ ʫʛʦʣ j ʫʤʝʥʴʰʘʝʪʩʷ, ʪʦ 

ʩʦʦʪʚʝʪʩʪʚʫʶʱʘʷ ʪʦʯʢʘ ʦʧʠʩʳʚʘʝʪ ʢʨʫʛʠ ʚ ʥʘʧʨʘʚʣʝʥʠʠ ʧʦ ʯʘʩʦʚʦʡ 

ʩʪʨʝʣʢʝ. 

 
20. ʉʧʠʨʘʣʴ ɸʨʭʠʤʝʜʘ - ʢʨʠʚʘʷ, ʟʘʜʘʚʘʝʤʘʷ ʫʨʘʚʥʝʥʠʝʤ  

r = aj, 

ʛʜʝ a - ʥʝʢʦʪʦʨʦʝ  ʬʠʢʩʠʨʦʚʘʥʥʦʝ ʯʠʩʣʦ, ʫʛʦʣ j ʟʘʜʘʸʪʩʷ ʚ ʨʘʜʠʘʥʘʭ. 

ʇʨʝʜʧʦʣʦʞʠʤ, ʯʪʦ a > 0, ʠ ʧʦʩʪʨʦʠʤ ʛʨʘʬʠʢ ʵʪʦʡ ʢʨʠʚʦʡ. ɽʩʣʠ j = 

0, ʪʦ r = 0. ʕʪʦ ʦʟʥʘʯʘʝʪ, ʯʪʦ ʢʨʠʚʘʷ ʧʨʦʭʦʜʠʪ ʯʝʨʝʟ ʥʘʯʘʣʦ ʢʦʦʨʜʠʥʘʪ. 

ʇʦʩʢʦʣʴʢʫ ʨʘʜʠʫʩ ʥʝʦʪʨʠʮʘʪʝʣʝʥ, ʦʪʨʠʮʘʪʝʣʴʥʳʤ ʫʛʣʘʤ j ʥʠʢʘʢʠʝ 

ʪʦʯʢʠ ʥʘ ʢʨʠʚʦʡ ʥʝ ʩʦʦʪʚʝʪʩʪʚʫʶʪ. ʇʦʩʤʦʪʨʠʤ, ʢʘʢ ʠʟʤʝʥʷʝʪʩʷ ʨʘʜʠʫʩ 

ʧʨʠ ʫʚʝʣʠʯʝʥʠʠ ʫʛʣʘ j. ɺ ʵʪʦʤ ʩʣʫʯʘʝ ʨʘʜʠʫʩ r ʪʘʢʞʝ ʙʫʜʝʪ 

ʫʚʝʣʠʯʠʚʘʪʴʩʷ. ʅʘʧʨʠʤʝʨ, ʧʨʠ j = 
2

p
 ʠʤʝʝʤ r = 

2

ap
; ʧʨʠ j = ́  ʧʦʣʫʯʘʝʤ 

r = a ,́ ʪ. ʝ. ʚ ʜʚʘ ʨʘʟʘ ʙʦʣʴʰʝ. ʇʨʠ j = 
3

2

p
 ʟʥʘʯʝʥʠʝ ʨʘʜʠʫʩʘ r ʙʫʜʝʪ ʚ 

ʪʨʠ ʨʘʟʘ ʙʦʣʴʰʝ ʠ ʪ. ʜ. ʉʦʝʜʠʥʷʷ ʧʣʘʚʥʦʡ ʢʨʠʚʦʡ ʧʦʣʫʯʝʥʥʳʝ ʪʦʯʢʠ, 

ʠʟʦʙʨʘʟʠʤ ʢʨʠʚʫʶ, ʢʦʪʦʨʘʷ ʥʘʟʳʚʘʝʪʩʷ ʩʧʠʨʘʣʴʶ ɸʨʭʠʤʝʜʘ ʚ ʯʝʩʪʴ 

ʯʝʣʦʚʝʢʘ, ʝʸ ʦʪʢʨʳʚʰʝʛʦ ʠ ʠʟʫʯʠʚʰʝʛʦ ʝʸ ʩʚʦʡʩʪʚʘ. 

 
ɻʝʦʤʝʪʨʠʯʝʩʢʠʤ ʩʚʦʡʩʪʚʦʤ, ʭʘʨʘʢʪʝʨʠʟʫʶʱʠʤ ʩʧʠʨʘʣʴ ɸʨʭʠʤʝʜʘ, 

ʷʚʣʷʝʪʩʷ ʧʦʩʪʦʷʥʩʪʚʦ ʨʘʩʩʪʦʷʥʠʡ ʤʝʞʜʫ ʩʦʩʝʜʥʠʤʠ ʚʠʪʢʘʤʠ, ʢʘʞʜʦʝ ʠʟ 

ʥʠʭ ʨʘʚʥʦ 2á. ɼʝʡʩʪʚʠʪʝʣʴʥʦ, ʝʩʣʠ ʫʛʦʣ j ʫʚʝʣʠʯʠʚʘʝʪʩʷ ʥʘ 2,́ ʪ. ʝ. 

ʪʦʯʢʘ ʜʝʣʘʝʪ ʦʜʠʥ ʦʙʦʨʦʪ ʧʨʦʪʠʚ ʯʘʩʦʚʦʡ ʩʪʨʝʣʢʠ, ʪʦ ʨʘʜʠʫʩ 

ʫʚʝʣʠʯʠʚʘʝʪʩʷ ʥʘ 2á, ʯʪʦ ʠ ʩʦʩʪʘʚʣʷʝʪ ʨʘʩʩʪʦʷʥʠʝ ʤʝʞʜʫ ʩʦʩʝʜʥʠʤʠ 

ʚʠʪʢʘʤʠ. 
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21. ʃʦʛʘʨʠʬʤʠʯʝʩʢʘʷ ʩʧʠʨʘʣʴ ï ʢʨʠʚʘʷ, ʟʘʜʘʚʘʝʤʘʷ ʫʨʘʚʥʝʥʠʝʤ ʚ 

ʧʦʣʷʨʥʳʭ ʢʦʦʨʜʠʥʘʪʘʭ r = aj , ʛʜʝ a - ʥʝʢʦʪʦʨʦʝ ʬʠʢʩʠʨʦʚʘʥʥʦʝ 

ʧʦʣʦʞʠʪʝʣʴʥʦʝ ʯʠʩʣʦ, ű  - ʫʛʦʣ, ʠʟʤʝʨʷʝʤʳʡ ʚ ʨʘʜʠʘʥʘʭ. 

 
ɺ ʦʪʣʠʯʠʝ ʦʪ ʩʧʠʨʘʣʠ ɸʨʭʠʤʝʜʘ, ʣʦʛʘʨʠʬʤʠʯʝʩʢʘʷ ʩʧʠʨʘʣʴ 

ʙʝʩʢʦʥʝʯʥʘ ʚ ʦʙʝ ʩʪʦʨʦʥʳ, ʪʘʢ ʢʘʢ ʫʛʦʣ ű ʤʦʞʝʪ ʠʟʤʝʥʷʪʴʩʷ ʦʪ -¤ ʜʦ +¤. 

ʇʨʠ ʵʪʦʤ, ʝʩʣʠ a > 1, ʪʦ ʧʨʠ ʫʚʝʣʠʯʝʥʠʠ ʫʛʣʘ ʨʘʜʠʫʩ ʫʚʝʣʠʯʠʚʘʝʪʩʷ, ʘ 

ʝʩʣʠ 0 < a < 1, ʪʦ ʧʨʠ ʫʚʝʣʠʯʝʥʠʠ ʫʛʣʘ ʨʘʜʠʫʩ ʫʤʝʥʴʰʘʝʪʩʷ. 

ʆʜʥʠʤ ʠʟ ʦʩʥʦʚʥʳʭ ʩʚʦʡʩʪʚ ʣʦʛʘʨʠʬʤʠʯʝʩʢʦʡ ʩʧʠʨʘʣʠ ʷʚʣʷʝʪʩʷ 

ʪʦ, ʯʪʦ ʚ ʣʶʙʦʡ ʝʸ ʪʦʯʢʝ ʫʛʦʣ ʤʝʞʜʫ ʢʘʩʘʪʝʣʴʥʦʡ ʢ ʥʝʡ ʠ ʨʘʜʠʫʩʦʤ-

ʚʝʢʪʦʨʦʤ, ʧʨʦʚʝʜʸʥʥʳʤ ʚ ʪʦʯʢʫ ʢʘʩʘʥʠʷ, ʩʦʭʨʘʥʷʝʪ ʧʦʩʪʦʷʥʥʦʝ ʟʥʘʯʝʥʠʝ.  

22. ʊʨʠʣʠʩʪʥʠʢ ï ʢʨʠʚʘʷ, ʟʘʜʘʚʘʝʤʘʷ ʫʨʘʚʥʝʥʠʝʤ r = sin 3j. 

ɼʣʷ ʧʦʩʪʨʦʝʥʠʷ ʵʪʦʡ ʢʨʠʚʦʡ ʩʥʘʯʘʣʘ ʟʘʤʝʪʠʤ, ʯʪʦ, ʧʦʩʢʦʣʴʢʫ 

ʨʘʜʠʫʩ ʥʝʦʪʨʠʮʘʪʝʣʝʥ, ʜʦʣʞʥʦ ʚʳʧʦʣʥʷʪʴʩʷ ʥʝʨʘʚʝʥʩʪʚʦ sin 3j ² 0, 

ʨʝʰʘʷ ʢʦʪʦʨʦʝ ʥʘʭʦʜʠʤ ʦʙʣʘʩʪʴ ʜʦʧʫʩʪʠʤʳʭ ʟʥʘʯʝʥʠʡ ʫʛʣʦʚ j: 

0  ̄¢ j ¢ 60 ;̄ 120̄  ¢ j ¢ 180 ;̄ 240̄  ¢ j ¢300 .̄ 

ʀʪʘʢ, ʧʫʩʪʴ 0 ¢ j ¢60 .̄ ɽʩʣʠ ʫʛʦʣ j ʠʟʤʝʥʷʝʪʩʷ ʦʪ ʥʫʣʷ ʜʦ 30,̄ ʪʦ 

sin 3j ʠʟʤʝʥʷʝʪʩʷ ʦʪ ʥʫʣʷ ʜʦ ʝʜʠʥʠʮʳ ʠ, ʩʣʝʜʦʚʘʪʝʣʴʥʦ, ʨʘʜʠʫʩ r 

ʠʟʤʝʥʷʝʪʩʷ ʦʪ ʥʫʣʷ ʜʦ ʝʜʠʥʠʮʳ. ɽʩʣʠ ʫʛʦʣ ʠʟʤʝʥʷʝʪʩʷ ʦʪ 30 ̄ʜʦ 60,̄ ʪʦ 

ʨʘʜʠʫʩ ʠʟʤʝʥʷʝʪʩʷ ʦʪ ʝʜʠʥʠʮʳ ʜʦ ʥʫʣʷ. ʊʘʢʠʤ ʦʙʨʘʟʦʤ, ʧʨʠ ʠʟʤʝʥʝʥʠʠ 

ʫʛʣʘ j ʦʪ 0 ̄ʜʦ 60 ̄ʪʦʯʢʘ ʥʘ ʧʣʦʩʢʦʩʪʠ ʦʧʠʩʳʚʘʝʪ ʢʨʠʚʫʶ, ʧʦʭʦʞʫʶ ʥʘ 

ʦʯʝʨʪʘʥʠʷ ʣʝʧʝʩʪʢʘ, ʠ ʚʦʟʚʨʘʱʘʝʪʩʷ ʚ ʥʘʯʘʣʦ ʢʦʦʨʜʠʥʘʪ. ʊʘʢʠʝ ʞʝ 

ʣʝʧʝʩʪʢʠ ʧʦʣʫʯʘʶʪʩʷ, ʢʦʛʜʘ ʫʛʦʣ ʠʟʤʝʥʷʝʪʩʷ ʚ ʧʨʝʜʝʣʘʭ ʦʪ 120 ̄ʜʦ 180 ̄

ʠ ʦʪ 240 ̄ʜʦ 300.̄ 
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ɼʠʘʛʥʦʩʪʠʯʝʩʢʘʷ ʨʘʙʦʪʘ 1 

 

1. ɼʣʷ ʜʘʥʥʳʭ ʧʫʥʢʪʠʨʥʳʭ ʛʨʘʬʠʢʦʚ ʦʙʚʝʜʠʪʝ ʩʧʣʦʰʥʦʡ ʣʠʥʠʝʡ 

ʛʨʘʬʠʢ ʬʫʥʢʮʠʠ 
1

.
2

y x=-  

 

 
 

 

2. ʅʘ ʢʣʝʪʯʘʪʦʡ ʙʫʤʘʛʝ ʠʟʦʙʨʘʟʠʪʝ ʛʨʘʬʠʢ ʬʫʥʢʮʠʠ y = |x ï 1| ï |x| 

+ |x + 1| ï 1. 
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3. ʅʘ ʢʣʝʪʯʘʪʦʡ ʙʫʤʘʛʝ ʦʪʤʝʪʴʪʝ ʪʦʯʢʠ ʥʘ ʛʨʘʬʠʢʝ ʬʫʥʢʮʠʠ y = x
2
, 

ʩʦʦʪʚʝʪʩʪʚʫʶʱʠʝ ʟʥʘʯʝʥʠʷʤ x, ʨʘʚʥʳʤ 0,5, 1, 1,5, 2, -0,5, -1, -1,5, -2. 

ʉʦʝʜʠʥʠʪʝ ʧʦʣʫʯʝʥʥʳʝ ʪʦʯʢʠ ʧʣʘʚʥʦʡ ʢʨʠʚʦʡ ʠ ʠʟʦʙʨʘʟʠʪʝ ʚʝʩʴ ʛʨʘʬʠʢ 

ʬʫʥʢʮʠʠ y = x
2
. 

 

 
 

4. ɼʣʷ ʜʘʥʥʳʭ ʧʫʥʢʪʠʨʥʳʭ ʛʨʘʬʠʢʦʚ ʦʙʚʝʜʠʪʝ ʩʧʣʦʰʥʦʡ ʣʠʥʠʝʡ 

ʛʨʘʬʠʢ ʬʫʥʢʮʠʠ 
1

.y
x
=  
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5. ʅʘ ʢʣʝʪʯʘʪʦʡ ʙʫʤʘʛʝ ʦʪʤʝʪʴʪʝ ʪʦʯʢʠ ʥʘ ʛʨʘʬʠʢʝ ʬʫʥʢʮʠʠ 
2

1
y

x
= , 

ʩʦʦʪʚʝʪʩʪʚʫʶʱʠʝ ʟʥʘʯʝʥʠʷʤ x, ʨʘʚʥʳʤ 0,5, 1, 2, 3, 4, -0,5, -1, -2, -3, -4. 

ʉʦʝʜʠʥʠʪʝ ʧʦʣʫʯʝʥʥʳʝ ʪʦʯʢʠ ʧʣʘʚʥʦʡ ʢʨʠʚʦʡ ʠ ʠʟʦʙʨʘʟʠʪʝ ʚʝʩʴ ʛʨʘʬʠʢ 

ʬʫʥʢʮʠʠ 
2

1
y

x
= . 

 

 

 

 
  

 

 

6. ɼʣʷ ʜʘʥʥʳʭ ʧʫʥʢʪʠʨʥʳʭ ʛʨʘʬʠʢʦʚ ʦʙʚʝʜʠʪʝ ʩʧʣʦʰʥʦʡ ʣʠʥʠʝʡ 

ʛʨʘʬʠʢ ʬʫʥʢʮʠʠ y = ïx
3
.  
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7. ʅʘ ʢʣʝʪʯʘʪʦʡ ʙʫʤʘʛʝ ʦʪʤʝʪʴʪʝ ʪʦʯʢʠ ʥʘ ʛʨʘʬʠʢʝ ʬʫʥʢʮʠʠ 

siny x= , ʩʦʦʪʚʝʪʩʪʚʫʶʱʠʝ ʟʥʘʯʝʥʠʷʤ x, ʨʘʚʥʳʤ 
6

p
, 

4

p
, 

3

p
, 

2

p
, 

2

3

p
, 

5

6

p
, 

p, 
6

p
- , 

4

p
- , 

3

p
- , 

2

p
- , 

2

3

p
- , 

5

6

p
- , -p,. ʇʨʠʤʠʪʝ 3p=. ʉʦʝʜʠʥʠʪʝ 

ʧʦʣʫʯʝʥʥʳʝ ʪʦʯʢʠ ʧʣʘʚʥʦʡ ʢʨʠʚʦʡ ʠ ʠʟʦʙʨʘʟʠʪʝ ʚʝʩʴ ʛʨʘʬʠʢ ʬʫʥʢʮʠʠ 

siny x= . 

 

 

 

 

 

 

 

 

8. ɼʣʷ ʜʘʥʥʳʭ ʧʫʥʢʪʠʨʥʳʭ ʛʨʘʬʠʢʦʚ ʦʙʚʝʜʠʪʝ ʩʧʣʦʰʥʦʡ ʣʠʥʠʝʡ 

ʛʨʘʬʠʢ ʬʫʥʢʮʠʠ cos2y x=  
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9. ʅʘ ʢʣʝʪʯʘʪʦʡ ʙʫʤʘʛʝ ʦʪʤʝʪʴʪʝ ʪʦʯʢʠ ʥʘ ʛʨʘʬʠʢʝ ʬʫʥʢʮʠʠ 2xy= , 

ʩʦʦʪʚʝʪʩʪʚʫʶʱʠʝ ʟʥʘʯʝʥʠʷʤ x, ʨʘʚʥʳʤ 0, 1, 2, 3, -1, -2, -3. ʉʦʝʜʠʥʠʪʝ 

ʧʦʣʫʯʝʥʥʳʝ ʪʦʯʢʠ ʧʣʘʚʥʦʡ ʢʨʠʚʦʡ ʠ ʠʟʦʙʨʘʟʠʪʝ ʚʝʩʴ ʛʨʘʬʠʢ ʬʫʥʢʮʠʠ 

2xy= . 

 

 
 

10. ɼʣʷ ʜʘʥʥʳʭ ʧʫʥʢʪʠʨʥʳʭ ʛʨʘʬʠʢʦʚ ʦʙʚʝʜʠʪʝ ʩʧʣʦʰʥʦʡ ʣʠʥʠʝʡ 

ʛʨʘʬʠʢ ʬʫʥʢʮʠʠ 0,5log .y x=  
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11. ʅʘ ʨʠʩʫʥʢʝ ʠʟʦʙʨʘʞʝʥ ʛʨʘʬʠʢ ʬʫʥʢʮʠʠ y = f(x). ʀʟʦʙʨʘʟʠʪʝ 

ʛʨʘʬʠʢ ʬʫʥʢʮʠʠ y = f(x+ 1). 

 

 

 

 

 
 

 

 

 

12. ʅʘ ʨʠʩʫʥʢʝ ʠʟʦʙʨʘʞʝʥ ʛʨʘʬʠʢ ʬʫʥʢʮʠʠ y = f(x). ʀʟʦʙʨʘʟʠʪʝ 

ʛʨʘʬʠʢ ʬʫʥʢʮʠʠ y = ïf(ïx). 
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13. ʅʘ ʢʣʝʪʯʘʪʦʡ ʙʫʤʘʛʝ ʦʪʤʝʪʴʪʝ ʪʦʯʢʠ, ʢʦʦʨʜʠʥʘʪʳ (x, y) ʢʦʪʦʨʳʭ 

ʫʜʦʚʣʝʪʚʦʨʷʶʪ ʫʨʘʚʥʝʥʠʶ x
2
 + 4y

2
 = 25 ʠ ʩʦʦʪʚʝʪʩʪʚʫʶʪ ʟʥʘʯʝʥʠʷʤ x, 

ʨʘʚʥʳʤ ï5, ï4, ï3, 0, 3, 4, 5. ʉʦʝʜʠʥʠʪʝ ʧʦʣʫʯʝʥʥʳʝ ʪʦʯʢʠ ʧʣʘʚʥʦʡ 

ʢʨʠʚʦʡ ʠ ʠʟʦʙʨʘʟʠʪʝ ʚʝʩʴ ʛʨʘʬʠʢ. 

 

 

 
 

 

 

14. ʅʘ ʢʣʝʪʯʘʪʦʡ ʙʫʤʘʛʝ ʦʪʤʝʪʴʪʝ ʪʦʯʢʠ ʥʘ ʛʨʘʬʠʢʝ, ʟʘʜʘʥʥʳʤ 

ʫʨʘʚʥʝʥʠʝʤ ʚ ʧʦʣʷʨʥʳʭ ʢʦʦʨʜʠʥʘʪʘʭ 
2

r
j

=
p
, ʩʦʦʪʚʝʪʩʪʚʫʶʱʠʝ 

ʟʥʘʯʝʥʠʷʤ j, ʨʘʚʥʳʤ 
2

p
, p, 

3

2

p
, 2p, 

5

2

p
, 3p, é . ʉʦʝʜʠʥʠʪʝ 

ʧʦʣʫʯʝʥʥʳʝ ʪʦʯʢʠ ʧʣʘʚʥʦʡ ʢʨʠʚʦʡ ʠ ʠʟʦʙʨʘʟʠʪʝ ʚʝʩʴ ʛʨʘʬʠʢ ʬʫʥʢʮʠʠ 

2
r
j

=
p

. 
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ɼʠʘʛʥʦʩʪʠʯʝʩʢʘʷ ʨʘʙʦʪʘ 2 

1. ʉʨʝʜʠ ʛʨʘʬʠʢʦʚ, ʠʟʦʙʨʘʞʝʥʥʳʭ ʥʘ ʨʠʩʫʥʢʝ, ʫʢʘʞʠʪʝ ʛʨʘʬʠʢʠ 

ʬʫʥʢʮʠʡ y = f(x). 

 

 

 
 

2. ʉʨʝʜʠ ʛʨʘʬʠʢʦʚ, ʠʟʦʙʨʘʞʝʥʥʳʭ ʥʘ ʨʠʩʫʥʢʝ, ʫʢʘʞʠʪʝ ʛʨʘʬʠʢʠ 

ʯʸʪʥʳʭ ʬʫʥʢʮʠʡ. 

 

 
 

3. ʉʨʝʜʠ ʧʝʨʝʯʠʩʣʝʥʥʳʭ ʥʠʞʝ ʬʫʥʢʮʠʡ ʫʢʘʞʠʪʝ ʪʫ, ʛʨʘʬʠʢ 

ʢʦʪʦʨʦʡ ʠʟʦʙʨʘʞʸʥ ʥʘ ʨʠʩʫʥʢʝ. 

 

 
 

ʘ) 1
2

x
y= +; ʙ)  1

2

x
y= -; ʚ)  1

2

x
y=- +; ʛ) 1

2

x
y=- -. 
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4. ʉʨʝʜʠ ʧʝʨʝʯʠʩʣʝʥʥʳʭ ʥʠʞʝ ʬʫʥʢʮʠʡ ʫʢʘʞʠʪʝ ʪʫ, ʛʨʘʬʠʢ 

ʢʦʪʦʨʦʡ ʠʟʦʙʨʘʞʸʥ ʥʘ ʨʠʩʫʥʢʝ. 

 

 

 
 

 

ʘ) y = x
2
 + x + 1; ʙ)  y = x

2
 + x ï 1; ʚ)  y = x

2
 ï x + 1; ʛ) y = x

2
 ï x ï 1. 

 

5. ʉʨʝʜʠ ʧʝʨʝʯʠʩʣʝʥʥʳʭ ʥʠʞʝ ʬʫʥʢʮʠʡ ʫʢʘʞʠʪʝ ʪʫ, ʛʨʘʬʠʢ 

ʢʦʪʦʨʦʡ ʠʟʦʙʨʘʞʸʥ ʥʘ ʨʠʩʫʥʢʝ. 

 

 

 
 

 

ʘ) y = x
3
; ʙ) y =  ïx

3
; ʚ) y = (x+1)

3
; ʛ)  y = (x ï 1)

3
. 
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6. ʉʨʝʜʠ ʧʝʨʝʯʠʩʣʝʥʥʳʭ ʥʠʞʝ ʬʫʥʢʮʠʡ ʫʢʘʞʠʪʝ ʪʫ, ʛʨʘʬʠʢ 

ʢʦʪʦʨʦʡ ʠʟʦʙʨʘʞʸʥ ʥʘ ʨʠʩʫʥʢʝ. 

 
 

ʘ) 
1

1
y

x
=
+
; ʙ)  

1

1
y

x
=
-
; ʚ)  

1
1y

x
= +; ʛ) 

1
1y

x
= -. 

 

7. ʉʨʝʜʠ ʧʝʨʝʯʠʩʣʝʥʥʳʭ ʥʠʞʝ ʬʫʥʢʮʠʡ ʫʢʘʞʠʪʝ ʪʫ, ʛʨʘʬʠʢ 

ʢʦʪʦʨʦʡ ʠʟʦʙʨʘʞʸʥ ʥʘ ʨʠʩʫʥʢʝ. 

 

 

ʘ) y x= ; ʙ) y x=- ; ʚ)  y x= -; ʛ) | |y x= . 

 

8. ʉʨʝʜʠ ʧʝʨʝʯʠʩʣʝʥʥʳʭ ʥʠʞʝ ʬʫʥʢʮʠʡ ʫʢʘʞʠʪʝ ʪʫ, ʛʨʘʬʠʢ 

ʢʦʪʦʨʦʡ ʠʟʦʙʨʘʞʸʥ ʥʘ ʨʠʩʫʥʢʝ. 

 

ʘ) 3 1y x= -; ʙ) 3 1y x=- -; ʚ) 3 1 1y x= - +; ʛ) 3 1 1y x= + -. 
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9. ʉʨʝʜʠ ʧʝʨʝʯʠʩʣʝʥʥʳʭ ʥʠʞʝ ʬʫʥʢʮʠʡ ʫʢʘʞʠʪʝ ʪʫ, ʛʨʘʬʠʢ 

ʢʦʪʦʨʦʡ ʠʟʦʙʨʘʞʸʥ ʥʘ ʨʠʩʫʥʢʝ.  

 
 

ʘ) y = 2
x
; ʙ)  y = 2

-x
; ʚ)  y = 2

x+1
; ʛ) y = 2

x ï 1
. 

 

10. ʉʨʝʜʠ ʧʝʨʝʯʠʩʣʝʥʥʳʭ ʥʠʞʝ ʬʫʥʢʮʠʡ ʫʢʘʞʠʪʝ ʪʫ, ʛʨʘʬʠʢ 

ʢʦʪʦʨʦʡ ʠʟʦʙʨʘʞʸʥ ʥʘ ʨʠʩʫʥʢʝ. 

 
ʘ) 2log ( 1)y x= -; ʙ) 2log ( 1)y x= +; ʚ) 2log ( 1)y x=- -; ʛ) 

2log ( 1)y x=- +. 

11. ʉʨʝʜʠ ʧʝʨʝʯʠʩʣʝʥʥʳʭ ʥʠʞʝ ʬʫʥʢʮʠʡ ʫʢʘʞʠʪʝ ʪʫ, ʛʨʘʬʠʢ 

ʢʦʪʦʨʦʡ ʠʟʦʙʨʘʞʸʥ ʥʘ ʨʠʩʫʥʢʝ. 

 

 

 
 

 

ʘ)  sin2y x= ; ʙ) sin
2

x
y= ; ʚ) 

sin

2

x
y= ; ʛ) 2siny x= . 
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12. ʉʨʝʜʠ ʧʝʨʝʯʠʩʣʝʥʥʳʭ ʥʠʞʝ ʬʫʥʢʮʠʡ ʫʢʘʞʠʪʝ ʪʫ, ʛʨʘʬʠʢ 

ʢʦʪʦʨʦʡ ʠʟʦʙʨʘʞʸʥ ʥʘ ʨʠʩʫʥʢʝ.  

 

 
 

ʘ) 2siny x= ; ʙ) 2siny x= ; ʚ) | sin |y x= ; ʛ) sin | |y x= . 

 

13. ʉʨʝʜʠ ʧʝʨʝʯʠʩʣʝʥʥʳʭ ʥʠʞʝ ʫʨʘʚʥʝʥʠʡ ʫʢʘʞʠʪʝ ʪʦ, ʛʨʘʬʠʢ 

ʢʦʪʦʨʦʛʦ ʠʟʦʙʨʘʞʸʥ ʥʘ ʨʠʩʫʥʢʝ. 

 

 
 

ʘ) x
2
 + y

2
 ï 4x ï2y +3,5 = 0; ʙ)  x

2
 + y

2
 + 4x ï2y +4,5 = 0; ʚ)  x

2
 + y

2
 ï 

4x +2y +2 = 0; ʛ) x
2
 + y

2
 + 4x +2y +3 = 0. 

 

14. ʉʨʝʜʠ ʧʝʨʝʯʠʩʣʝʥʥʳʭ ʥʠʞʝ ʬʫʥʢʮʠʡ ʚ ʧʦʣʷʨʥʳʭ ʢʦʦʨʜʠʥʘʪʘʭ 

ʫʢʘʞʠʪʝ ʪʫ, ʛʨʘʬʠʢ ʢʦʪʦʨʦʡ ʠʟʦʙʨʘʞʸʥ ʥʘ ʨʠʩʫʥʢʝ. 

 

 
  

ʘ) sinr = j; ʙ) cosr= j; ʚ) 
1

sin
r =

j
; ʛ) 

1

cos
r =

j
. 
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ʊʨʝʥʠʨʦʚʦʯʥʘʷ ʨʘʙʦʪʘ 1 

1. ʅʘ ʢʣʝʪʯʘʪʦʡ ʙʫʤʘʛʝ ʠʟʦʙʨʘʟʠʪʝ ʣʠʥʠʶ, ʢʦʦʨʜʠʥʘʪʳ ʪʦʯʝʢ 

ʢʦʪʦʨʦʡ ʫʜʦʚʣʝʪʚʦʨʷʶʪ ʫʨʘʚʥʝʥʠʶ |x| ï |y| = 1. 

 

 

 

 
 

 

 

2. ɼʣʷ ʜʘʥʥʳʭ ʧʫʥʢʪʠʨʥʳʭ ʛʨʘʬʠʢʦʚ ʦʙʚʝʜʠʪʝ ʩʧʣʦʰʥʦʡ ʣʠʥʠʝʡ 

ʛʨʘʬʠʢ ʬʫʥʢʮʠʠ y = x
2
. 
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3. ʅʘ ʢʣʝʪʯʘʪʦʡ ʙʫʤʘʛʝ ʦʪʤʝʪʴʪʝ ʪʦʯʢʠ ʥʘ ʛʨʘʬʠʢʝ ʬʫʥʢʮʠʠ 

y x= , ʩʦʦʪʚʝʪʩʪʚʫʶʱʠʝ ʟʥʘʯʝʥʠʷʤ x, ʨʘʚʥʳʤ 0,25, 1, 2, 3, 4, -0,25, -1, -

2, -3, -4. ʉʦʝʜʠʥʠʪʝ ʧʦʣʫʯʝʥʥʳʝ ʪʦʯʢʠ ʧʣʘʚʥʦʡ ʢʨʠʚʦʡ ʠ ʠʟʦʙʨʘʟʠʪʝ ʚʝʩʴ 

ʛʨʘʬʠʢ ʬʫʥʢʮʠʠ y x= . 

 

 

 

 
 

 

 

4. ʅʘ ʢʣʝʪʯʘʪʦʡ ʙʫʤʘʛʝ ʦʪʤʝʪʴʪʝ ʪʦʯʢʠ ʥʘ ʛʨʘʬʠʢʝ ʬʫʥʢʮʠʠ 

2

1

1
y

x
=
+
, ʩʦʦʪʚʝʪʩʪʚʫʶʱʠʝ ʟʥʘʯʝʥʠʷʤ x, ʨʘʚʥʳʤ 0, 0,5, 1, 1,5, 2, 3, -0,5, 

-1, -1,5, -2, -3. ʉʦʝʜʠʥʠʪʝ ʧʦʣʫʯʝʥʥʳʝ ʪʦʯʢʠ ʧʣʘʚʥʦʡ ʢʨʠʚʦʡ ʠ 

ʠʟʦʙʨʘʟʠʪʝ ʚʝʩʴ ʛʨʘʬʠʢ ʬʫʥʢʮʠʠ 
2

1

1
y

x
=
+

. 
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5. ɼʣʷ ʜʘʥʥʳʭ ʧʫʥʢʪʠʨʥʳʭ ʛʨʘʬʠʢʦʚ ʦʙʚʝʜʠʪʝ ʩʧʣʦʰʥʦʡ ʣʠʥʠʝʡ 

ʛʨʘʬʠʢ ʬʫʥʢʮʠʠ y = 2
x
. 

 

 

 
 

 

 

6. ʅʘ ʢʣʝʪʯʘʪʦʡ ʙʫʤʘʛʝ ʦʪʤʝʪʴʪʝ ʪʦʯʢʠ ʥʘ ʛʨʘʬʠʢʝ ʬʫʥʢʮʠʠ 

2logy x= , ʩʦʦʪʚʝʪʩʪʚʫʶʱʠʝ ʟʥʘʯʝʥʠʷʤ x, ʨʘʚʥʳʤ 0,25, 0,5, 1, 2, 4, 8. 

ʉʦʝʜʠʥʠʪʝ ʧʦʣʫʯʝʥʥʳʝ ʪʦʯʢʠ ʧʣʘʚʥʦʡ ʢʨʠʚʦʡ ʠ ʠʟʦʙʨʘʟʠʪʝ ʚʝʩʴ ʛʨʘʬʠʢ 

ʬʫʥʢʮʠʠ 2logy x= . 
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7. ʅʘ ʢʣʝʪʯʘʪʦʡ ʙʫʤʘʛʝ ʦʪʤʝʪʴʪʝ ʪʦʯʢʠ ʥʘ ʛʨʘʬʠʢʝ ʬʫʥʢʮʠʠ 

arcsiny x= , ʩʦʦʪʚʝʪʩʪʚʫʶʱʠʝ ʟʥʘʯʝʥʠʷʤ y, ʨʘʚʥʳʤ 0, 
6

p
, 

4

p
, 

3

p
, 

2

p
, 

6

p
- , 

4

p
- , 

3

p
- , 

2

p
- . ʇʨʠʤʠʪʝ 3p=. ʉʦʝʜʠʥʠʪʝ ʧʦʣʫʯʝʥʥʳʝ ʪʦʯʢʠ ʧʣʘʚʥʦʡ 

ʢʨʠʚʦʡ ʠ ʠʟʦʙʨʘʟʠʪʝ ʚʝʩʴ ʛʨʘʬʠʢ ʬʫʥʢʮʠʠ arcsiny x= . 

 
8. ʅʘ ʢʣʝʪʯʘʪʦʡ ʙʫʤʘʛʝ ʦʪʤʝʪʴʪʝ ʪʦʯʢʠ ʥʘ ʛʨʘʬʠʢʝ ʬʫʥʢʮʠʠ 

arcy tg x= , ʩʦʦʪʚʝʪʩʪʚʫʶʱʠʝ ʟʥʘʯʝʥʠʷʤ y, ʨʘʚʥʳʤ 0, 
6

p
, 

4

p
, 

3

p
, 

6

p
- , 

4

p
- , 

3

p
- . ʇʨʠʤʠʪʝ 3p=. ʉʦʝʜʠʥʠʪʝ ʧʦʣʫʯʝʥʥʳʝ ʪʦʯʢʠ ʧʣʘʚʥʦʡ ʢʨʠʚʦʡ ʠ 

ʠʟʦʙʨʘʟʠʪʝ ʚʝʩʴ ʛʨʘʬʠʢ ʬʫʥʢʮʠʠ arcy tg x= . 
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9. ɼʣʷ ʜʘʥʥʳʭ ʧʫʥʢʪʠʨʥʳʭ ʛʨʘʬʠʢʦʚ ʦʙʚʝʜʠʪʝ ʩʧʣʦʰʥʦʡ ʣʠʥʠʝʡ 

ʛʨʘʬʠʢ ʬʫʥʢʮʠʠ y = 2sin2x. 

 

 

 

 

10. ʅʘ ʨʠʩʫʥʢʝ ʠʟʦʙʨʘʞʝʥ ʛʨʘʬʠʢ ʬʫʥʢʮʠʠ y = f(x). ʀʟʦʙʨʘʟʠʪʝ 

ʛʨʘʬʠʢ ʬʫʥʢʮʠʠ .
2

x
y f

å õ
= æ ö
ç ÷
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11. ʅʘ ʢʣʝʪʯʘʪʦʡ ʙʫʤʘʛʝ ʠʟʦʙʨʘʟʠʪʝ ʣʠʥʠʶ, ʢʦʦʨʜʠʥʘʪʳ ʪʦʯʝʢ 

ʢʦʪʦʨʦʡ ʫʜʦʚʣʝʪʚʦʨʷʶʪ ʫʨʘʚʥʝʥʠʶ x
2
 ï y

2
 = 1. 

 

 
 

 

12. ʅʘ ʢʣʝʪʯʘʪʦʡ ʙʫʤʘʛʝ ʦʪʤʝʪʴʪʝ ʪʦʯʢʠ ʥʘ ʛʨʘʬʠʢʝ, ʟʘʜʘʥʥʳʤ 

ʫʨʘʚʥʝʥʠʝʤ ʚ ʧʦʣʷʨʥʳʭ ʢʦʦʨʜʠʥʘʪʘʭ r
j
=
p
, ʩʦʦʪʚʝʪʩʪʚʫʶʱʠʝ ʟʥʘʯʝʥʠʷʤ 

j, ʨʘʚʥʳʤ 
2

p
, p, 

3

2

p
, 2p, 

5

2

p
, 3p, é . ʉʦʝʜʠʥʠʪʝ ʧʦʣʫʯʝʥʥʳʝ ʪʦʯʢʠ 

ʧʣʘʚʥʦʡ ʢʨʠʚʦʡ ʠ ʠʟʦʙʨʘʟʠʪʝ ʚʝʩʴ ʛʨʘʬʠʢ ʬʫʥʢʮʠʠ r
j
=
p

. 
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ʊʨʝʥʠʨʦʚʦʯʥʘʷ ʨʘʙʦʪʘ 2 

1. ʉʨʝʜʠ ʛʨʘʬʠʢʦʚ, ʠʟʦʙʨʘʞʸʥʥʳʭ ʥʘ ʨʠʩʫʥʢʝ, ʫʢʘʞʠʪʝ ʛʨʘʬʠʢʠ 

ʬʫʥʢʮʠʡ y = f(x). 

 

 

 
 

2. ʉʨʝʜʠ ʛʨʘʬʠʢʦʚ, ʠʟʦʙʨʘʞʸʥʥʳʭ ʥʘ ʨʠʩʫʥʢʝ, ʫʢʘʞʠʪʝ ʛʨʘʬʠʢʠ 

ʬʫʥʢʮʠʡ y = f(x). 

 

 

 
 

 

3. ʉʨʝʜʠ ʛʨʘʬʠʢʦʚ, ʠʟʦʙʨʘʞʸʥʥʳʭ ʥʘ ʨʠʩʫʥʢʝ, ʫʢʘʞʠʪʝ ʛʨʘʬʠʢʠ 

ʬʫʥʢʮʠʡ y = f(x). 
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4. ʉʨʝʜʠ ʛʨʘʬʠʢʦʚ, ʠʟʦʙʨʘʞʸʥʥʳʭ ʥʘ ʨʠʩʫʥʢʝ, ʫʢʘʞʠʪʝ ʛʨʘʬʠʢʠ 

ʬʫʥʢʮʠʡ y = f(x). 

 

 

 
 

 

5. ʉʨʝʜʠ ʛʨʘʬʠʢʦʚ, ʠʟʦʙʨʘʞʸʥʥʳʭ ʥʘ ʨʠʩʫʥʢʝ, ʫʢʘʞʠʪʝ ʛʨʘʬʠʢʠ 

ʯʸʪʥʳʭ ʬʫʥʢʮʠʡ. 

 

 

 
 

 

 

6. ʉʨʝʜʠ ʛʨʘʬʠʢʦʚ, ʠʟʦʙʨʘʞʸʥʥʳʭ ʥʘ ʨʠʩʫʥʢʝ, ʫʢʘʞʠʪʝ ʛʨʘʬʠʢʠ 

ʯʸʪʥʳʭ ʬʫʥʢʮʠʡ. 
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7. ʉʨʝʜʠ ʛʨʘʬʠʢʦʚ, ʠʟʦʙʨʘʞʸʥʥʳʭ ʥʘ ʨʠʩʫʥʢʝ, ʫʢʘʞʠʪʝ ʛʨʘʬʠʢʠ 

ʯʸʪʥʳʭ ʬʫʥʢʮʠʡ. 

 

 

 
 

 

8. ʉʨʝʜʠ ʛʨʘʬʠʢʦʚ, ʠʟʦʙʨʘʞʸʥʥʳʭ ʥʘ ʨʠʩʫʥʢʝ, ʫʢʘʞʠʪʝ ʛʨʘʬʠʢʠ 

ʯʸʪʥʳʭ ʬʫʥʢʮʠʡ. 

 

 

 
 

 

9. ʉʨʝʜʠ ʛʨʘʬʠʢʦʚ, ʠʟʦʙʨʘʞʸʥʥʳʭ ʥʘ ʨʠʩʫʥʢʝ, ʫʢʘʞʠʪʝ ʛʨʘʬʠʢʠ 

ʥʝʯʸʪʥʳʭ ʬʫʥʢʮʠʡ. 
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10. ʉʨʝʜʠ ʛʨʘʬʠʢʦʚ, ʠʟʦʙʨʘʞʸʥʥʳʭ ʥʘ ʨʠʩʫʥʢʝ, ʫʢʘʞʠʪʝ ʛʨʘʬʠʢʠ 

ʥʝʯʸʪʥʳʭ ʬʫʥʢʮʠʡ. 

 

 

 
 

 

11. ʉʨʝʜʠ ʛʨʘʬʠʢʦʚ, ʠʟʦʙʨʘʞʸʥʥʳʭ ʥʘ ʨʠʩʫʥʢʝ, ʫʢʘʞʠʪʝ ʛʨʘʬʠʢʠ 

ʥʝʯʸʪʥʳʭ ʬʫʥʢʮʠʡ. 

 

 

 
 

 

12. ʉʨʝʜʠ ʛʨʘʬʠʢʦʚ, ʠʟʦʙʨʘʞʸʥʥʳʭ ʥʘ ʨʠʩʫʥʢʝ, ʫʢʘʞʠʪʝ ʛʨʘʬʠʢʠ 

ʥʝʯʸʪʥʳʭ ʬʫʥʢʮʠʡ. 
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ʊʨʝʥʠʨʦʚʦʯʥʘʷ ʨʘʙʦʪʘ 3 

1. ʉʨʝʜʠ ʧʝʨʝʯʠʩʣʝʥʥʳʭ ʥʠʞʝ ʬʫʥʢʮʠʡ ʫʢʘʞʠʪʝ ʪʫ, ʛʨʘʬʠʢ 

ʢʦʪʦʨʦʡ ʠʟʦʙʨʘʞʸʥ ʥʘ ʨʠʩʫʥʢʝ. 

 
ʘ) y = x ï 1; ʙ) y = x + 1; ʚ) y =  ïx + 1; ʛ) y = ïx ï 1; ʜ) y =2x + 2; ʝ)  

y =2x ï 2; ʞ)  y = ï2x + 2; ʟ) y = ï2x ï 2; ʠ) 1
2

x
y= +; ʢ)  1

2

x
y= -; ʣ)  

1
2

x
y=- +; ʤ) 1

2

x
y=- -. 

 

2. ʉʨʝʜʠ ʧʝʨʝʯʠʩʣʝʥʥʳʭ ʥʠʞʝ ʬʫʥʢʮʠʡ ʫʢʘʞʠʪʝ ʪʫ, ʛʨʘʬʠʢ 

ʢʦʪʦʨʦʡ ʠʟʦʙʨʘʞʸʥ ʥʘ ʨʠʩʫʥʢʝ. 

 
ʘ) y = x + 1; ʙ) y = x ï 1; ʚ) y =  ïx + 1; ʛ) y = ïx ï 1; ʜ) y =2x + 2; ʝ)  

y =2x ï 2; ʞ)  y = ï2x + 2; ʟ) y = ï2x ï 2; ʠ) 1
2

x
y= +; ʢ)  1

2

x
y= -; ʣ)  

1
2

x
y=- +; ʤ) 1

2

x
y=- -. 
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3. ʉʨʝʜʠ ʧʝʨʝʯʠʩʣʝʥʥʳʭ ʥʠʞʝ ʬʫʥʢʮʠʡ ʫʢʘʞʠʪʝ ʪʫ, ʛʨʘʬʠʢ 

ʢʦʪʦʨʦʡ ʠʟʦʙʨʘʞʸʥ ʥʘ ʨʠʩʫʥʢʝ. 

 
ʘ) y = ïx ï 1; ʙ) y = x + 1; ʚ) y = x ï 1; ʛ) y =  ïx + 1; ʜ) y =2x + 2; ʝ)  

y =2x ï 2; ʞ)  y = ï2x + 2; ʟ) y = ï2x ï 2; ʠ) 1
2

x
y= +; ʢ)  1

2

x
y= -; ʣ)  

1
2

x
y=- +; ʤ) 1

2

x
y=- -. 

 

4. ʉʨʝʜʠ ʧʝʨʝʯʠʩʣʝʥʥʳʭ ʥʠʞʝ ʬʫʥʢʮʠʡ ʫʢʘʞʠʪʝ ʪʫ, ʛʨʘʬʠʢ 

ʢʦʪʦʨʦʡ ʠʟʦʙʨʘʞʸʥ ʥʘ ʨʠʩʫʥʢʝ. 

 
 

ʘ) y = x + 1; ʙ) y = x ï 1; ʚ) y =  ïx + 1; ʛ) y = ïx ï 1; ʜ) y =2x + 2; ʝ)  

y =2x ï 2; ʞ)  y = ï2x + 2; ʟ) y = ï2x ï 2; ʠ) 1
2

x
y= +; ʢ)  1

2

x
y= -; ʣ)  

1
2

x
y=- +; ʤ) 1

2

x
y=- -. 
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5. ʉʨʝʜʠ ʧʝʨʝʯʠʩʣʝʥʥʳʭ ʥʠʞʝ ʬʫʥʢʮʠʡ ʫʢʘʞʠʪʝ ʪʫ, ʛʨʘʬʠʢ 

ʢʦʪʦʨʦʡ ʠʟʦʙʨʘʞʸʥ ʥʘ ʨʠʩʫʥʢʝ. 

 
ʘ) y = x + 1; ʙ) y = x ï 1; ʚ) y =  ïx + 1; ʛ) y = ïx ï 1; ʜ) y =2x + 2; ʝ)  

y =2x ï 2; ʞ)  y = ï2x + 2; ʟ) y = ï2x ï 2; ʠ) 1
2

x
y= +; ʢ)  1

2

x
y= -; ʣ)  

1
2

x
y=- +; ʤ) 1

2

x
y=- -. 

 

6. ʉʨʝʜʠ ʧʝʨʝʯʠʩʣʝʥʥʳʭ ʥʠʞʝ ʬʫʥʢʮʠʡ ʫʢʘʞʠʪʝ ʪʫ, ʛʨʘʬʠʢ 

ʢʦʪʦʨʦʡ ʠʟʦʙʨʘʞʸʥ ʥʘ ʨʠʩʫʥʢʝ. 

 
ʘ) y = x + 1; ʙ) y = x ï 1; ʚ) y =  ïx + 1; ʛ) y = ïx ï 1; ʜ) y =2x + 2; ʝ)  

y =2x ï 2; ʞ)  y = ï2x + 2; ʟ) y = ï2x ï 2; ʠ) 1
2

x
y= +; ʢ)  1

2

x
y= -; ʣ)  

1
2

x
y=- +; ʤ) 1

2

x
y=- -. 
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7. ʉʨʝʜʠ ʧʝʨʝʯʠʩʣʝʥʥʳʭ ʥʠʞʝ ʬʫʥʢʮʠʡ ʫʢʘʞʠʪʝ ʪʫ, ʛʨʘʬʠʢ 

ʢʦʪʦʨʦʡ ʠʟʦʙʨʘʞʸʥ ʥʘ ʨʠʩʫʥʢʝ. 

 
ʘ) y = x + 1; ʙ) y = x ï 1; ʚ) y =  ïx + 1; ʛ) y = ïx ï 1; ʜ) y =2x + 2; ʝ)  

y =2x ï 2; ʞ)  y = ï2x + 2; ʟ) y = ï2x ï 2; ʠ) 1
2

x
y= +; ʢ)  1

2

x
y= -; ʣ)  

1
2

x
y=- +; ʤ) 1

2

x
y=- -. 

 

8. ʉʨʝʜʠ ʧʝʨʝʯʠʩʣʝʥʥʳʭ ʥʠʞʝ ʬʫʥʢʮʠʡ ʫʢʘʞʠʪʝ ʪʫ, ʛʨʘʬʠʢ 

ʢʦʪʦʨʦʡ ʠʟʦʙʨʘʞʸʥ ʥʘ ʨʠʩʫʥʢʝ. 

 
ʘ) y = x + 1; ʙ) y = x ï 1; ʚ) y =  ïx + 1; ʛ) y = ïx ï 1; ʜ) y =2x + 2; ʝ)  

y =2x ï 2; ʞ)  y = ï2x + 2; ʟ) y = ï2x ï 2; ʠ) 1
2

x
y= +; ʢ)  1

2

x
y= -; ʣ)  

1
2

x
y=- +; ʤ) 1

2

x
y=- -. 
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9. ʉʨʝʜʠ ʧʝʨʝʯʠʩʣʝʥʥʳʭ ʥʠʞʝ ʬʫʥʢʮʠʡ ʫʢʘʞʠʪʝ ʪʫ, ʛʨʘʬʠʢ 

ʢʦʪʦʨʦʡ ʠʟʦʙʨʘʞʸʥ ʥʘ ʨʠʩʫʥʢʝ. 

 
ʘ) y = x + 1; ʙ) y = x ï 1; ʚ) y =  ïx + 1; ʛ) y = ïx ï 1; ʜ) y =2x + 2; ʝ)  

y =2x ï 2; ʞ)  y = ï2x + 2; ʟ) y = ï2x ï 2; ʠ) 1
2

x
y= +; ʢ)  1

2

x
y= -; ʣ)  

1
2

x
y=- +; ʤ) 1

2

x
y=- -. 

 

10. ʉʨʝʜʠ ʧʝʨʝʯʠʩʣʝʥʥʳʭ ʥʠʞʝ ʬʫʥʢʮʠʡ ʫʢʘʞʠʪʝ ʪʫ, ʛʨʘʬʠʢ 

ʢʦʪʦʨʦʡ ʠʟʦʙʨʘʞʸʥ ʥʘ ʨʠʩʫʥʢʝ. 

 
ʘ) y = x + 1; ʙ) y = x ï 1; ʚ) y =  ïx + 1; ʛ) y = ïx ï 1; ʜ) y =2x + 2; ʝ)  

y =2x ï 2; ʞ)  y = ï2x + 2; ʟ) y = ï2x ï 2; ʠ) 1
2

x
y= +; ʢ)  1

2

x
y= -; ʣ)  

1
2

x
y=- +; ʤ) 1

2

x
y=- -. 

 



 42 

11. ʉʨʝʜʠ ʧʝʨʝʯʠʩʣʝʥʥʳʭ ʥʠʞʝ ʬʫʥʢʮʠʡ ʫʢʘʞʠʪʝ ʪʫ, ʛʨʘʬʠʢ 

ʢʦʪʦʨʦʡ ʠʟʦʙʨʘʞʸʥ ʥʘ ʨʠʩʫʥʢʝ. 

 
ʘ) y = x + 1; ʙ) y = x ï 1; ʚ) y =  ïx + 1; ʛ) y = ïx ï 1; ʜ) y =2x + 2; ʝ)  

y =2x ï 2; ʞ)  y = ï2x + 2; ʟ) y = ï2x ï 2; ʠ) 1
2

x
y= +; ʢ)  1

2

x
y= -; ʣ)  

1
2

x
y=- +; ʤ) 1

2

x
y=- -. 

 

12. ʉʨʝʜʠ ʧʝʨʝʯʠʩʣʝʥʥʳʭ ʥʠʞʝ ʬʫʥʢʮʠʡ ʫʢʘʞʠʪʝ ʪʫ, ʛʨʘʬʠʢ 

ʢʦʪʦʨʦʡ ʠʟʦʙʨʘʞʸʥ ʥʘ ʨʠʩʫʥʢʝ. 

 
ʘ) y = x + 1; ʙ) y = x ï 1; ʚ) y =  ïx + 1; ʛ) y = ïx ï 1; ʜ) y =2x + 2; ʝ)  

y =2x ï 2; ʞ)  y = ï2x + 2; ʟ) y = ï2x ï 2; ʠ) 1
2

x
y= +; ʢ)  1

2

x
y= -; ʣ)  

1
2

x
y=- +; ʤ) 1

2

x
y=- -. 
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ʊʨʝʥʠʨʦʚʦʯʥʘʷ ʨʘʙʦʪʘ 4 

1. ʉʨʝʜʠ ʧʝʨʝʯʠʩʣʝʥʥʳʭ ʥʠʞʝ ʬʫʥʢʮʠʡ ʫʢʘʞʠʪʝ ʪʫ, ʛʨʘʬʠʢ 

ʢʦʪʦʨʦʡ ʠʟʦʙʨʘʞʸʥ ʥʘ ʨʠʩʫʥʢʝ. 

 

 
 

ʘ) y = x
2
 ï 1; ʙ) y = x

2
 + 2x + 1; ʚ) y = x

2
 ï 2x + 1; ʛ) y = x

2
 + x + 1; ʜ)  

y = x
2
 + x ï 1; ʝ)  y = x

2
 ï x + 1; ʞ) y = x

2
 ï x ï 1; ʟ) y = ïx

2
 + x + 1; ʠ) y = x

2
 

+ 1; ʢ)  y = ïx
2
 + x; ʣ)  y = ïx

2
 ï x + 1; ʤ)  y = ï2x

2
 ï x + 1; ʥ) y = ï x

2
 ï x; ʦ) 

y = 2x
2
 + x + 1; ʧ) y = 

2

1
2

x
x- +. 

 

2. ʉʨʝʜʠ ʧʝʨʝʯʠʩʣʝʥʥʳʭ ʥʠʞʝ ʬʫʥʢʮʠʡ ʫʢʘʞʠʪʝ ʪʫ, ʛʨʘʬʠʢ 

ʢʦʪʦʨʦʡ ʠʟʦʙʨʘʞʸʥ ʥʘ ʨʠʩʫʥʢʝ. 

 

 
 

 

ʘ) y = x
2
 + 1; ʙ) y = x

2
 ï 1; ʚ) y = x

2
 + 2x + 1; ʛ) y = x

2
 ï 2x + 1; ʜ) y = 

x
2
 + x + 1; ʝ)  y = x

2
 + x ï 1; ʞ)  y = x

2
 ï x + 1; ʟ) y = x

2
 ï x ï 1; ʠ) y = ïx

2
 + 

x + 1; ʢ)  y = ïx
2
 + x; ʣ)  y = ïx

2
 ï x + 1; ʤ)  y = ï2x

2
 ï x + 1; ʥ) y = ïx

2
 ï x; 

ʦ) y = 2x
2
 + x + 1; ʧ) y = 

2

1
2

x
x- +. 
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3. ʉʨʝʜʠ ʧʝʨʝʯʠʩʣʝʥʥʳʭ ʥʠʞʝ ʬʫʥʢʮʠʡ ʫʢʘʞʠʪʝ ʪʫ, ʛʨʘʬʠʢ 

ʢʦʪʦʨʦʡ ʠʟʦʙʨʘʞʸʥ ʥʘ ʨʠʩʫʥʢʝ. 

 

 
 

ʘ) y = x
2
 + 1; ʙ) y = x

2
 ï 1; ʚ) y = x

2
 ï 2x + 1; ʛ) y = x

2
 + x + 1; ʜ)  y = 

x
2
 + x ï 1; ʝ)  y = x

2
 ï x + 1; ʞ) y = x

2
 ï x ï 1; ʟ) y = ïx

2
 + x + 1; ʠ)  y = ïx

2
 + 

x; ʢ)  y = ïx
2
 ï x + 1; ʣ)  y = ï2x

2
 ï x + 1; ʤ) y = x

2
 + 2x + 1; ʥ) y = ïx

2
 ï x; 

ʦ) y = 2x
2
 + x + 1; ʧ) y = 

2

1
2

x
x- +. 

 

4. ʉʨʝʜʠ ʧʝʨʝʯʠʩʣʝʥʥʳʭ ʥʠʞʝ ʬʫʥʢʮʠʡ ʫʢʘʞʠʪʝ ʪʫ, ʛʨʘʬʠʢ 

ʢʦʪʦʨʦʡ ʠʟʦʙʨʘʞʸʥ ʥʘ ʨʠʩʫʥʢʝ. 

 

 

 
 

 

ʘ) y = x
2
 + 1; ʙ) y = x

2
 ï 1; ʚ) y = x

2
 + 2x + 1; ʛ) y = x

2
 ï 2x + 1; ʜ) y = 

x
2
 + x + 1; ʝ)  y = x

2
 + x ï 1; ʞ)  y = x

2
 ï x + 1; ʟ) y = x

2
 ï x ï 1; ʠ) y = ïx

2
 + 

x + 1; ʢ)  y = ïx
2
 + x; ʣ)  y = ïx

2
 ï x + 1; ʤ)  y = ï2x

2
 ï x + 1; ʥ) y = ïx

2
 ï x; 

ʦ) y = 2x
2
 + x + 1; ʧ) y = 

2

1
2

x
x- +. 
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5. ʉʨʝʜʠ ʧʝʨʝʯʠʩʣʝʥʥʳʭ ʥʠʞʝ ʬʫʥʢʮʠʡ ʫʢʘʞʠʪʝ ʪʫ, ʛʨʘʬʠʢ 

ʢʦʪʦʨʦʡ ʠʟʦʙʨʘʞʸʥ ʥʘ ʨʠʩʫʥʢʝ. 

 

 
 

ʘ) y = x
2
 + 1; ʙ) y = x

2
 ï 1; ʚ) y = x

2
 + 2x + 1; ʛ) y = x

2
 ï 2x + 1; ʜ)  y = 

x
2
 + x ï 1; ʝ)  y = x

2
 ï x + 1; ʞ) y = x

2
 + x + 1; ʟ) y = x

2
 ï x ï 1; ʠ) y = ïx

2
 + x 

+ 1; ʢ)  y = ïx
2
 + x; ʣ)  y = ïx

2
 ï x + 1; ʤ)  y = ï2x

2
 ï x + 1; ʥ) y = ïx

2
 ï x; ʦ) 

y = 2x
2
 + x + 1; ʧ) y = 

2

1
2

x
x- +. 

 

6. ʉʨʝʜʠ ʧʝʨʝʯʠʩʣʝʥʥʳʭ ʥʠʞʝ ʬʫʥʢʮʠʡ ʫʢʘʞʠʪʝ ʪʫ, ʛʨʘʬʠʢ 

ʢʦʪʦʨʦʡ ʠʟʦʙʨʘʞʸʥ ʥʘ ʨʠʩʫʥʢʝ. 

 

 

 
 

 

ʘ) y = x
2
 + 1; ʙ) y = x

2
 ï 1; ʚ) y = x

2
 + 2x + 1; ʛ) y = x

2
 ï 2x + 1; ʜ) y = 

x
2
 + x + 1; ʝ)  y = x

2
 + x ï 1; ʞ)  y = x

2
 ï x + 1; ʟ) y = x

2
 ï x ï 1; ʠ) y = ïx

2
 + 

x + 1; ʢ)  y = ïx
2
 + x; ʣ)  y = ïx

2
 ï x + 1; ʤ)  y = ï2x

2
 ï x + 1; ʥ) y = ïx

2
 ï x; 

ʦ) y = 2x
2
 + x + 1; ʧ) y = 

2

1
2

x
x- +. 
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7. ʉʨʝʜʠ ʧʝʨʝʯʠʩʣʝʥʥʳʭ ʥʠʞʝ ʬʫʥʢʮʠʡ ʫʢʘʞʠʪʝ ʪʫ, ʛʨʘʬʠʢ 

ʢʦʪʦʨʦʡ ʠʟʦʙʨʘʞʸʥ ʥʘ ʨʠʩʫʥʢʝ. 

 

 

 
 

ʘ) y = x
2
 + 1; ʙ) y = x

2
 ï 1; ʚ) y = x

2
 + 2x + 1; ʛ) y = x

2
 ï 2x + 1; ʜ) y = 

x
2
 + x + 1; ʝ)  y = x

2
 + x ï 1; ʞ)  y = x

2
 ï x + 1; ʟ) y = x

2
 ï x ï 1; ʠ) y = ïx

2
 + 

x + 1; ʢ)  y = ïx
2
 + x; ʣ)  y = ïx

2
 ï x + 1; ʤ)  y = ï2x

2
 ï x + 1; ʥ) y = ïx

2
 ï x; 

ʦ) y = 2x
2
 + x + 1; ʧ) y = 

2

1
2

x
x- +. 

 

8. ʉʨʝʜʠ ʧʝʨʝʯʠʩʣʝʥʥʳʭ ʥʠʞʝ ʬʫʥʢʮʠʡ ʫʢʘʞʠʪʝ ʪʫ, ʛʨʘʬʠʢ 

ʢʦʪʦʨʦʡ ʠʟʦʙʨʘʞʸʥ ʥʘ ʨʠʩʫʥʢʝ. 

 

 

 
 

 

ʘ) y = x
2
 + 1; ʙ) y = x

2
 ï 1; ʚ) y = x

2
 + 2x + 1; ʛ) y = x

2
 ï 2x + 1; ʜ) y = 

x
2
 + x + 1; ʝ)  y = x

2
 + x ï 1; ʞ)  y = x

2
 ï x + 1; ʟ) y = x

2
 ï x ï 1; ʠ) y = ïx

2
 + 

x + 1; ʢ)  y = ïx
2
 + x; ʣ)  y = ïx

2
 ï x + 1; ʤ)  y = ï2x

2
 ï x + 1; ʥ) y = ïx

2
 ï x; 

ʦ) y = 2x
2
 + x + 1; ʧ) y = 

2

1
2

x
x- +. 
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9. ʉʨʝʜʠ ʧʝʨʝʯʠʩʣʝʥʥʳʭ ʥʠʞʝ ʬʫʥʢʮʠʡ ʫʢʘʞʠʪʝ ʪʫ, ʛʨʘʬʠʢ 

ʢʦʪʦʨʦʡ ʠʟʦʙʨʘʞʸʥ ʥʘ ʨʠʩʫʥʢʝ. 

 

 

 
 

ʘ) y = x
2
 + 1; ʙ) y = x

2
 ï 1; ʚ) y = x

2
 + 2x + 1; ʛ) y = x

2
 ï 2x + 1; ʜ) y = 

x
2
 + x + 1; ʝ)  y = x

2
 + x ï 1; ʞ)  y = x

2
 ï x + 1; ʟ) y = x

2
 ï x ï 1; ʠ) y = ïx

2
 + 

x + 1; ʢ)  y = ïx
2
 + x; ʣ)  y = ïx

2
 ï x + 1; ʤ)  y = ï2x

2
 ï x + 1; ʥ) y = ïx

2
 ï x; 

ʦ) y = 2x
2
 + x + 1; ʧ) y = 

2

1
2

x
x- +. 

 

10. ʉʨʝʜʠ ʧʝʨʝʯʠʩʣʝʥʥʳʭ ʥʠʞʝ ʬʫʥʢʮʠʡ ʫʢʘʞʠʪʝ ʪʫ, ʛʨʘʬʠʢ 

ʢʦʪʦʨʦʡ ʠʟʦʙʨʘʞʸʥ ʥʘ ʨʠʩʫʥʢʝ. 

 

 

 
 

 

ʘ) y = x
2
 + 1; ʙ) y = x

2
 ï 1; ʚ) y = x

2
 + 2x + 1; ʛ) y = x

2
 ï 2x + 1; ʜ) y = 

x
2
 + x + 1; ʝ)  y = x

2
 + x ï 1; ʞ)  y = x

2
 ï x + 1; ʟ) y = x

2
 ï x ï 1; ʠ) y = ïx

2
 + 

x + 1; ʢ)  y = ïx
2
 + x; ʣ)  y = ïx

2
 ï x + 1; ʤ)  y = ï2x

2
 ï x + 1; ʥ) y = ïx

2
 ï x; 

ʦ) y = 2x
2
 + x + 1; ʧ) y = 

2

1
2

x
x- +. 
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11. ʉʨʝʜʠ ʧʝʨʝʯʠʩʣʝʥʥʳʭ ʥʠʞʝ ʬʫʥʢʮʠʡ ʫʢʘʞʠʪʝ ʪʫ, ʛʨʘʬʠʢ 

ʢʦʪʦʨʦʡ ʠʟʦʙʨʘʞʸʥ ʥʘ ʨʠʩʫʥʢʝ. 

 

 
 

 

ʘ) y = x
2
 + 1; ʙ) y = x

2
 ï 1; ʚ) y = x

2
 + 2x + 1; ʛ) y = x

2
 ï 2x + 1; ʜ) y = 

x
2
 + x + 1; ʝ)  y = x

2
 + x ï 1; ʞ)  y = x

2
 ï x + 1; ʟ) y = x

2
 ï x ï 1; ʠ) y = ïx

2
 + 

x + 1; ʢ)  y = ïx
2
 + x; ʣ)  y = ïx

2
 ï x + 1; ʤ)  y = ï2x

2
 ï x + 1; ʥ) y = ï x

2
 ï x; 

ʦ) y = 2x
2
 + x + 1; ʧ) y = 

2

1
2

x
x- +. 

 

12. ʉʨʝʜʠ ʧʝʨʝʯʠʩʣʝʥʥʳʭ ʥʠʞʝ ʬʫʥʢʮʠʡ ʫʢʘʞʠʪʝ ʪʫ, ʛʨʘʬʠʢ 

ʢʦʪʦʨʦʡ ʠʟʦʙʨʘʞʸʥ ʥʘ ʨʠʩʫʥʢʝ. 

 

 
 

 

ʘ) y = x
2
 + 1; ʙ) y = x

2
 ï 1; ʚ) y = x

2
 + 2x + 1; ʛ) y = x

2
 ï 2x + 1; ʜ) y = 

x
2
 + x + 1; ʝ)  y = x

2
 + x ï 1; ʞ)  y = x

2
 ï x + 1; ʟ) y = x

2
 ï x ï 1; ʠ) y = ïx

2
 + 

x + 1; ʢ)  y = ïx
2
 + x; ʣ)  y = ïx

2
 ï x + 1; ʤ)  y = ï2x

2
 ï x + 1; ʥ) y = ïx

2
 ï x; 

ʦ) y = 2x
2
 + x + 1; ʧ) y = 

2

1
2

x
x- +. 
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ʊʨʝʥʠʨʦʚʦʯʥʘʷ ʨʘʙʦʪʘ 5 

1. ʉʨʝʜʠ ʧʝʨʝʯʠʩʣʝʥʥʳʭ ʥʠʞʝ ʬʫʥʢʮʠʡ ʫʢʘʞʠʪʝ ʪʫ, ʛʨʘʬʠʢ 

ʢʦʪʦʨʦʡ ʠʟʦʙʨʘʞʸʥ ʥʘ ʨʠʩʫʥʢʝ. 

 

 
 

ʘ) y = ïx
3
; ʙ)  y = x

3
 + x

2
 ï x ï 1; ʚ)  y = x

3
 ï x

2
 ï x +  1; ʛ) y = x

3
; ʜ)  y 

= ïx
3
 ï x

2
 + x +  1; ʝ)  y = ï x

3
 + x

2
 + x ï 1; ʞ) y = x

4
; ʟ) y = x

4
 ï x

2
 ï 1; ʠ) y = 

x
4
 ï x

2
 + 1; ʢ) y = x

4
 + x

2
 + 1; ʣ) y = x

4
 + x

2
 ï 1; ʤ) y = ï x

4
 + x

2
 + 1.      

 

2. ʉʨʝʜʠ ʧʝʨʝʯʠʩʣʝʥʥʳʭ ʥʠʞʝ ʬʫʥʢʮʠʡ ʫʢʘʞʠʪʝ ʪʫ, ʛʨʘʬʠʢ 

ʢʦʪʦʨʦʡ ʠʟʦʙʨʘʞʸʥ ʥʘ ʨʠʩʫʥʢʝ. 

 

 
 

ʘ) y = x
3
; ʙ) y =  ïx

3
; ʚ)  y = x

3
 + x

2
 ï x ï 1; ʛ)  y = x

3
 ï x

2
 ï x + 1; ʜ)  y 

= ïx
3
 ï x

2
 + x +  1; ʝ)  y = ï x

3
 + x

2
 + x ï 1; ʞ) y = x

4
; ʟ) y = x

4
 ï x

2
 ï 1; ʠ) y = 

x
4
 ï x

2
 + 1; ʢ) y = x

4
 + x

2
 + 1; ʣ) y = x

4
 + x

2
 ï 1; ʤ) y = ï x

4
 + x

2
 + 1.      
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3. ʉʨʝʜʠ ʧʝʨʝʯʠʩʣʝʥʥʳʭ ʥʠʞʝ ʬʫʥʢʮʠʡ ʫʢʘʞʠʪʝ ʪʫ, ʛʨʘʬʠʢ 

ʢʦʪʦʨʦʡ ʠʟʦʙʨʘʞʸʥ ʥʘ ʨʠʩʫʥʢʝ. 

 

 
 

ʘ) y = x
3
; ʙ) y =  ïx

3
; ʚ)  y = x

3
 ï x

2
 ï x +  1; ʛ)  y = ïx

3
 ï x

2
 + x +  1; ʜ)  y 

= ï x
3
 + x

2
 + x ï 1; ʝ)  y = x

3
 + x

2
 ï x ï 1; ʞ) y = x

4
; ʟ) y = x

4
 ï x

2
 ï 1; ʠ) y = 

x
4
 ï x

2
 + 1; ʢ) y = x

4
 + x

2
 + 1; ʣ) y = x

4
 + x

2
 ï 1; ʤ) y = ï x

4
 + x

2
 + 1.      

 

4. ʉʨʝʜʠ ʧʝʨʝʯʠʩʣʝʥʥʳʭ ʥʠʞʝ ʬʫʥʢʮʠʡ ʫʢʘʞʠʪʝ ʪʫ, ʛʨʘʬʠʢ 

ʢʦʪʦʨʦʡ ʠʟʦʙʨʘʞʸʥ ʥʘ ʨʠʩʫʥʢʝ. 

 

 
 

ʘ) y = x
3
; ʙ) y =  ïx

3
; ʚ)  y = x

3
 + x

2
 ï x ï 1; ʛ)  y = x

3
 ï x

2
 ï x + 1; ʜ)  y 

= ïx
3
 ï x

2
 + x +  1; ʝ)  y = ï x

3
 + x

2
 + x ï 1; ʞ) y = x

4
; ʟ) y = x

4
 ï x

2
 ï 1; ʠ) y = 

x
4
 ï x

2
 + 1; ʢ) y = x

4
 + x

2
 + 1; ʣ) y = x

4
 + x

2
 ï 1; ʤ) y = ï x

4
 + x

2
 + 1.      
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5. ʉʨʝʜʠ ʧʝʨʝʯʠʩʣʝʥʥʳʭ ʥʠʞʝ ʬʫʥʢʮʠʡ ʫʢʘʞʠʪʝ ʪʫ, ʛʨʘʬʠʢ 

ʢʦʪʦʨʦʡ ʠʟʦʙʨʘʞʸʥ ʥʘ ʨʠʩʫʥʢʝ. 

 

 
 

ʘ) y = x
3
; ʙ) y =  ïx

3
; ʚ)  y = ï x

3
 ï x

2
 + x +  1; ʛ)  y = x

3
 + x

2
 ï x ï 1; ʜ)  

y = x
3
 ï x

2
 ï x + 1; ʝ)  y = ï x

3
 + x

2
 + x ï 1; ʞ) y = x

4
; ʟ) y = x

4
 ï x

2
 ï 1; ʠ) y = 

x
4
 ï x

2
 + 1; ʢ) y = x

4
 + x

2
 + 1; ʣ) y = x

4
 + x

2
 ï 1; ʤ) y = ï x

4
 + x

2
 + 1.      

 

 

6. ʉʨʝʜʠ ʧʝʨʝʯʠʩʣʝʥʥʳʭ ʥʠʞʝ ʬʫʥʢʮʠʡ ʫʢʘʞʠʪʝ ʪʫ, ʛʨʘʬʠʢ 

ʢʦʪʦʨʦʡ ʠʟʦʙʨʘʞʸʥ ʥʘ ʨʠʩʫʥʢʝ. 

 

 
 

ʘ) y = x
3
; ʙ) y =  ïx

3
; ʚ)  y = x

3
 + x

2
 ï x ï 1; ʛ)  y = x

3
 ï x

2
 ï x + 1; ʜ)  y 

= ï x
3
 ï x

2
 + x +  1; ʝ)  y = ï x
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7. ʉʨʝʜʠ ʧʝʨʝʯʠʩʣʝʥʥʳʭ ʥʠʞʝ ʬʫʥʢʮʠʡ ʫʢʘʞʠʪʝ ʪʫ, ʛʨʘʬʠʢ 

ʢʦʪʦʨʦʡ ʠʟʦʙʨʘʞʸʥ ʥʘ ʨʠʩʫʥʢʝ. 
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8. ʉʨʝʜʠ ʧʝʨʝʯʠʩʣʝʥʥʳʭ ʥʠʞʝ ʬʫʥʢʮʠʡ ʫʢʘʞʠʪʝ ʪʫ, ʛʨʘʬʠʢ 

ʢʦʪʦʨʦʡ ʠʟʦʙʨʘʞʸʥ ʥʘ ʨʠʩʫʥʢʝ. 
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9. ʉʨʝʜʠ ʧʝʨʝʯʠʩʣʝʥʥʳʭ ʥʠʞʝ ʬʫʥʢʮʠʡ ʫʢʘʞʠʪʝ ʪʫ, ʛʨʘʬʠʢ 

ʢʦʪʦʨʦʡ ʠʟʦʙʨʘʞʸʥ ʥʘ ʨʠʩʫʥʢʝ. 
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10. ʉʨʝʜʠ ʧʝʨʝʯʠʩʣʝʥʥʳʭ ʥʠʞʝ ʬʫʥʢʮʠʡ ʫʢʘʞʠʪʝ ʪʫ, ʛʨʘʬʠʢ 

ʢʦʪʦʨʦʡ ʠʟʦʙʨʘʞʸʥ ʥʘ ʨʠʩʫʥʢʝ. 
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11. ʉʨʝʜʠ ʧʝʨʝʯʠʩʣʝʥʥʳʭ ʥʠʞʝ ʬʫʥʢʮʠʡ ʫʢʘʞʠʪʝ ʪʫ, ʛʨʘʬʠʢ 

ʢʦʪʦʨʦʡ ʠʟʦʙʨʘʞʸʥ ʥʘ ʨʠʩʫʥʢʝ. 
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12. ʉʨʝʜʠ ʧʝʨʝʯʠʩʣʝʥʥʳʭ ʥʠʞʝ ʬʫʥʢʮʠʡ ʫʢʘʞʠʪʝ ʪʫ, ʛʨʘʬʠʢ 

ʢʦʪʦʨʦʡ ʠʟʦʙʨʘʞʸʥ ʥʘ ʨʠʩʫʥʢʝ. 
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ʊʨʝʥʠʨʦʚʦʯʥʘʷ ʨʘʙʦʪʘ 6 

1. ʉʨʝʜʠ ʧʝʨʝʯʠʩʣʝʥʥʳʭ ʥʠʞʝ ʬʫʥʢʮʠʡ ʫʢʘʞʠʪʝ ʪʫ, ʛʨʘʬʠʢ 

ʢʦʪʦʨʦʡ ʠʟʦʙʨʘʞʸʥ ʥʘ ʨʠʩʫʥʢʝ. 
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2. ʉʨʝʜʠ ʧʝʨʝʯʠʩʣʝʥʥʳʭ ʥʠʞʝ ʬʫʥʢʮʠʡ ʫʢʘʞʠʪʝ ʪʫ, ʛʨʘʬʠʢ 

ʢʦʪʦʨʦʡ ʠʟʦʙʨʘʞʸʥ ʥʘ ʨʠʩʫʥʢʝ. 

 

 

ʘ) 
1

y
x
= ; ʙ) 

2
y

x
= ; ʚ) 

1

2
y

x
= ; ʛ) 

1x
y

x

+
= ; ʜ) 

1x
y

x

-
= ; ʝ) 

1

1
y

x
=
+

; 

ʞ) 
1

1
y

x
=
-
; ʟ) 

2

1
y

x
=
-
; ʠ) 

2

1
y

x
=
+
; ʢ) 

1

x
y

x
=
+
; ʣ)  

1

x
y

x
=
-
; ʤ) 

1

1

x
y

x

+
=
-
; ʥ) 

1

1

x
y

x

-
=
+

. 

 



 56 

3. ʉʨʝʜʠ ʧʝʨʝʯʠʩʣʝʥʥʳʭ ʥʠʞʝ ʬʫʥʢʮʠʡ ʫʢʘʞʠʪʝ ʪʫ, ʛʨʘʬʠʢ 

ʢʦʪʦʨʦʡ ʠʟʦʙʨʘʞʸʥ ʥʘ ʨʠʩʫʥʢʝ. 
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4. ʉʨʝʜʠ ʧʝʨʝʯʠʩʣʝʥʥʳʭ ʥʠʞʝ ʬʫʥʢʮʠʡ ʫʢʘʞʠʪʝ ʪʫ, ʛʨʘʬʠʢ 

ʢʦʪʦʨʦʡ ʠʟʦʙʨʘʞʸʥ ʥʘ ʨʠʩʫʥʢʝ. 
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5. ʉʨʝʜʠ ʧʝʨʝʯʠʩʣʝʥʥʳʭ ʥʠʞʝ ʬʫʥʢʮʠʡ ʫʢʘʞʠʪʝ ʪʫ, ʛʨʘʬʠʢ 

ʢʦʪʦʨʦʡ ʠʟʦʙʨʘʞʸʥ ʥʘ ʨʠʩʫʥʢʝ. 
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6. ʉʨʝʜʠ ʧʝʨʝʯʠʩʣʝʥʥʳʭ ʥʠʞʝ ʬʫʥʢʮʠʡ ʫʢʘʞʠʪʝ ʪʫ, ʛʨʘʬʠʢ 

ʢʦʪʦʨʦʡ ʠʟʦʙʨʘʞʸʥ ʥʘ ʨʠʩʫʥʢʝ. 
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7. ʉʨʝʜʠ ʧʝʨʝʯʠʩʣʝʥʥʳʭ ʥʠʞʝ ʬʫʥʢʮʠʡ ʫʢʘʞʠʪʝ ʪʫ, ʛʨʘʬʠʢ 

ʢʦʪʦʨʦʡ ʠʟʦʙʨʘʞʸʥ ʥʘ ʨʠʩʫʥʢʝ. 
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8. ʉʨʝʜʠ ʧʝʨʝʯʠʩʣʝʥʥʳʭ ʥʠʞʝ ʬʫʥʢʮʠʡ ʫʢʘʞʠʪʝ ʪʫ, ʛʨʘʬʠʢ 

ʢʦʪʦʨʦʡ ʠʟʦʙʨʘʞʸʥ ʥʘ ʨʠʩʫʥʢʝ. 
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9. ʉʨʝʜʠ ʧʝʨʝʯʠʩʣʝʥʥʳʭ ʥʠʞʝ ʬʫʥʢʮʠʡ ʫʢʘʞʠʪʝ ʪʫ, ʛʨʘʬʠʢ 

ʢʦʪʦʨʦʡ ʠʟʦʙʨʘʞʸʥ ʥʘ ʨʠʩʫʥʢʝ. 
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10. ʉʨʝʜʠ ʧʝʨʝʯʠʩʣʝʥʥʳʭ ʥʠʞʝ ʬʫʥʢʮʠʡ ʫʢʘʞʠʪʝ ʪʫ, ʛʨʘʬʠʢ 

ʢʦʪʦʨʦʡ ʠʟʦʙʨʘʞʸʥ ʥʘ ʨʠʩʫʥʢʝ. 
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11. ʉʨʝʜʠ ʧʝʨʝʯʠʩʣʝʥʥʳʭ ʥʠʞʝ ʬʫʥʢʮʠʡ ʫʢʘʞʠʪʝ ʪʫ, ʛʨʘʬʠʢ 

ʢʦʪʦʨʦʡ ʠʟʦʙʨʘʞʸʥ ʥʘ ʨʠʩʫʥʢʝ. 
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12. ʉʨʝʜʠ ʧʝʨʝʯʠʩʣʝʥʥʳʭ ʥʠʞʝ ʬʫʥʢʮʠʡ ʫʢʘʞʠʪʝ ʪʫ, ʛʨʘʬʠʢ 

ʢʦʪʦʨʦʡ ʠʟʦʙʨʘʞʸʥ ʥʘ ʨʠʩʫʥʢʝ. 
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ʊʨʝʥʠʨʦʚʦʯʥʘʷ ʨʘʙʦʪʘ 7 

1. ʉʨʝʜʠ ʧʝʨʝʯʠʩʣʝʥʥʳʭ ʥʠʞʝ ʬʫʥʢʮʠʡ ʫʢʘʞʠʪʝ ʪʫ, ʛʨʘʬʠʢ 

ʢʦʪʦʨʦʡ ʠʟʦʙʨʘʞʸʥ ʥʘ ʨʠʩʫʥʢʝ. 

 

 

 
 

 

ʘ) y x=- ; ʙ)  y x= -; ʚ)  y x=- -; ʛ) y x= ; ʜ)  1y x= +; ʝ)  

1y x= - -; ʞ) 1y x= -; ʟ) 1y x=- - -; ʠ) 1y x= -; ʢ) 1y x=- -; 

ʣ) 1y x=- +; ʤ) 1y x=- -; ʥ) 1y x= +; ʦ) 1y x= -; ʧ) 1y x=- +; 

ʨ) 1y x=- -. 

 

2. ʉʨʝʜʠ ʧʝʨʝʯʠʩʣʝʥʥʳʭ ʥʠʞʝ ʬʫʥʢʮʠʡ ʫʢʘʞʠʪʝ ʪʫ, ʛʨʘʬʠʢ 

ʢʦʪʦʨʦʡ ʠʟʦʙʨʘʞʸʥ ʥʘ ʨʠʩʫʥʢʝ. 

 

 

 

 
 

 

ʘ) y x= ; ʙ) y x=- ; ʚ)  y x= -; ʛ)  y x=- -; ʜ)  1y x= +; ʝ)  

1y x= - -; ʞ) 1y x= -; ʟ) 1y x=- - -; ʠ) 1y x= -; ʢ) 1y x=- -; 

ʣ) 1y x=- +; ʤ) 1y x=- -; ʥ) 1y x= +; ʦ) 1y x= -; ʧ) 1y x=- +; 

ʨ) 1y x=- -. 
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3. ʉʨʝʜʠ ʧʝʨʝʯʠʩʣʝʥʥʳʭ ʥʠʞʝ ʬʫʥʢʮʠʡ ʫʢʘʞʠʪʝ ʪʫ, ʛʨʘʬʠʢ 

ʢʦʪʦʨʦʡ ʠʟʦʙʨʘʞʸʥ ʥʘ ʨʠʩʫʥʢʝ. 

 

 

 

 
 

ʘ) y x= ; ʙ) y x=- ; ʚ)  y x= -; ʛ)  y x=- -; ʜ)  1y x= +; ʝ)  

1y x= - -; ʞ) 1y x= -; ʟ) 1y x=- - -; ʠ) 1y x= -; ʢ) 1y x=- -; 

ʣ) 1y x=- +; ʤ) 1y x=- -; ʥ) 1y x= +; ʦ) 1y x= -; ʧ) 1y x=- +; 

ʨ) 1y x=- -. 

 

4. ʉʨʝʜʠ ʧʝʨʝʯʠʩʣʝʥʥʳʭ ʥʠʞʝ ʬʫʥʢʮʠʡ ʫʢʘʞʠʪʝ ʪʫ, ʛʨʘʬʠʢ 

ʢʦʪʦʨʦʡ ʠʟʦʙʨʘʞʸʥ ʥʘ ʨʠʩʫʥʢʝ. 

 

 

 
 

 

 

ʘ) y x= ; ʙ) y x=- ; ʚ)  y x= -; ʛ)  y x=- -; ʜ)  1y x= +; ʝ)  

1y x= - -; ʞ) 1y x= -; ʟ) 1y x=- - -; ʠ) 1y x= -; ʢ) 1y x=- -; 

ʣ) 1y x=- +; ʤ) 1y x=- -; ʥ) 1y x= +; ʦ) 1y x= -; ʧ) 1y x=- +; 

ʨ) 1y x=- -. 
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5. ʉʨʝʜʠ ʧʝʨʝʯʠʩʣʝʥʥʳʭ ʥʠʞʝ ʬʫʥʢʮʠʡ ʫʢʘʞʠʪʝ ʪʫ, ʛʨʘʬʠʢ 

ʢʦʪʦʨʦʡ ʠʟʦʙʨʘʞʸʥ ʥʘ ʨʠʩʫʥʢʝ. 

 

 

 

 
 

 

ʘ) y x= ; ʙ) y x=- ; ʚ)  y x= -; ʛ)  y x=- -; ʜ)  1y x= +; ʝ)  

1y x= - -; ʞ) 1y x= -; ʟ) 1y x=- - -; ʠ) 1y x= -; ʢ) 1y x=- -; 

ʣ) 1y x=- +; ʤ) 1y x=- -; ʥ) 1y x= +; ʦ) 1y x= -; ʧ) 1y x=- +; 

ʨ) 1y x=- -. 

           

6. ʉʨʝʜʠ ʧʝʨʝʯʠʩʣʝʥʥʳʭ ʥʠʞʝ ʬʫʥʢʮʠʡ ʫʢʘʞʠʪʝ ʪʫ, ʛʨʘʬʠʢ 

ʢʦʪʦʨʦʡ ʠʟʦʙʨʘʞʸʥ ʥʘ ʨʠʩʫʥʢʝ. 

 

 

 
 

 

 

ʘ) y x= ; ʙ) y x=- ; ʚ)  y x= -; ʛ)  y x=- -; ʜ)  1y x= +; ʝ)  

1y x= - -; ʞ) 1y x= -; ʟ) 1y x=- - -; ʠ) 1y x= -; ʢ) 1y x=- -; 

ʣ) 1y x=- +; ʤ) 1y x=- -; ʥ) 1y x= +; ʦ) 1y x= -; ʧ) 1y x=- +; 

ʨ) 1y x=- -. 
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7. ʉʨʝʜʠ ʧʝʨʝʯʠʩʣʝʥʥʳʭ ʥʠʞʝ ʬʫʥʢʮʠʡ ʫʢʘʞʠʪʝ ʪʫ, ʛʨʘʬʠʢ 

ʢʦʪʦʨʦʡ ʠʟʦʙʨʘʞʸʥ ʥʘ ʨʠʩʫʥʢʝ. 

 

 

 

 
 

 

ʘ) y x= ; ʙ) y x=- ; ʚ)  y x= -; ʛ)  y x=- -; ʜ)  1y x= +; ʝ)  

1y x= - -; ʞ) 1y x= -; ʟ) 1y x=- - -; ʠ) 1y x= -; ʢ) 1y x=- -; 

ʣ) 1y x=- +; ʤ) 1y x=- -; ʥ) 1y x= +; ʦ) 1y x= -; ʧ) 1y x=- +; 

ʨ) 1y x=- -. 

 

8. ʉʨʝʜʠ ʧʝʨʝʯʠʩʣʝʥʥʳʭ ʥʠʞʝ ʬʫʥʢʮʠʡ ʫʢʘʞʠʪʝ ʪʫ, ʛʨʘʬʠʢ 

ʢʦʪʦʨʦʡ ʠʟʦʙʨʘʞʸʥ ʥʘ ʨʠʩʫʥʢʝ. 

 

 

 

 
 

 

 

ʘ) y x= ; ʙ) y x=- ; ʚ)  y x= -; ʛ)  y x=- -; ʜ)  1y x= +; ʝ)  

1y x= - -; ʞ) 1y x= -; ʟ) 1y x=- - -; ʠ) 1y x= -; ʢ) 1y x=- -; 

ʣ) 1y x=- +; ʤ) 1y x=- -; ʥ) 1y x= +; ʦ) 1y x= -; ʧ) 1y x=- +; 

ʨ) 1y x=- -. 
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9. ʉʨʝʜʠ ʧʝʨʝʯʠʩʣʝʥʥʳʭ ʥʠʞʝ ʬʫʥʢʮʠʡ ʫʢʘʞʠʪʝ ʪʫ, ʛʨʘʬʠʢ 

ʢʦʪʦʨʦʡ ʠʟʦʙʨʘʞʸʥ ʥʘ ʨʠʩʫʥʢʝ. 

 

 

 
 

 

 

ʘ) y x= ; ʙ) y x=- ; ʚ)  y x= -; ʛ)  y x=- -; ʜ)  1y x= +; ʝ)  

1y x= - -; ʞ) 1y x= -; ʟ) 1y x=- - -; ʠ) 1y x= -; ʢ) 1y x=- -; 

ʣ) 1y x=- +; ʤ) 1y x=- -; ʥ) 1y x= +; ʦ) 1y x= -; ʧ) 1y x=- +; 

ʨ) 1y x=- -. 

 

10. ʉʨʝʜʠ ʧʝʨʝʯʠʩʣʝʥʥʳʭ ʥʠʞʝ ʬʫʥʢʮʠʡ ʫʢʘʞʠʪʝ ʪʫ, ʛʨʘʬʠʢ 

ʢʦʪʦʨʦʡ ʠʟʦʙʨʘʞʸʥ ʥʘ ʨʠʩʫʥʢʝ. 

 

 

 

 
 

 

 

ʘ) y x= ; ʙ) y x=- ; ʚ)  y x= -; ʛ)  y x=- -; ʜ)  1y x= +; ʝ)  

1y x= - -; ʞ) 1y x= -; ʟ) 1y x=- - -; ʠ) 1y x= -; ʢ) 1y x=- -; 

ʣ) 1y x=- +; ʤ) 1y x=- -; ʥ) 1y x= +; ʦ) 1y x= -; ʧ) 1y x=- +; 

ʨ) 1y x=- -. 
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11. ʉʨʝʜʠ ʧʝʨʝʯʠʩʣʝʥʥʳʭ ʥʠʞʝ ʬʫʥʢʮʠʡ ʫʢʘʞʠʪʝ ʪʫ, ʛʨʘʬʠʢ 

ʢʦʪʦʨʦʡ ʠʟʦʙʨʘʞʸʥ ʥʘ ʨʠʩʫʥʢʝ. 

 

 

 
 

 

ʘ) y x= ; ʙ) y x=- ; ʚ)  y x= -; ʛ)  y x=- -; ʜ)  1y x= +; ʝ)  

1y x= - -; ʞ) 1y x= -; ʟ) 1y x=- - -; ʠ) 1y x= -; ʢ) 1y x=- +; 

ʣ) 1y x=- -; ʤ 1y x= +; ʥ) 1y x=- -; ʦ) 1y x= -; ʧ) 1y x=- +; 

ʨ) 1y x=- -. 

 

12. ʉʨʝʜʠ ʧʝʨʝʯʠʩʣʝʥʥʳʭ ʥʠʞʝ ʬʫʥʢʮʠʡ ʫʢʘʞʠʪʝ ʪʫ, ʛʨʘʬʠʢ 

ʢʦʪʦʨʦʡ ʠʟʦʙʨʘʞʸʥ ʥʘ ʨʠʩʫʥʢʝ. 

 

 

 
 

 

 

ʘ) y x= ; ʙ) y x=- ; ʚ)  y x= -; ʛ)  y x=- -; ʜ)  1y x= +; ʝ)  

1y x= - -; ʞ) 1y x= -; ʟ) 1y x=- - -; ʠ) 1y x= -; ʢ) 1y x=- -; 

ʣ) 1y x=- +; ʤ) 1y x=- -; ʥ) 1y x= +; ʦ) 1y x= -; ʧ) 1y x=- +; 

ʨ) 1y x=- -. 
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ʊʨʝʥʠʨʦʚʦʯʥʘʷ ʨʘʙʦʪʘ 8 

1. ʉʨʝʜʠ ʧʝʨʝʯʠʩʣʝʥʥʳʭ ʥʠʞʝ ʬʫʥʢʮʠʡ ʫʢʘʞʠʪʝ ʪʫ, ʛʨʘʬʠʢ 

ʢʦʪʦʨʦʡ ʠʟʦʙʨʘʞʸʥ ʥʘ ʨʠʩʫʥʢʝ. 

 

ʘ)  3 1y x= +; ʙ) 3 1y x=- +; ʚ) 3 1y x= -; ʛ) 3 1y x= - +; ʜ) 

3y x= ; ʝ) 3y x= -; ʞ) 3 1y x= +; ʟ) 3 1y x=- +; ʠ) 3 1y x= -; ʢ) 

3 1y x=- -; ʣ) 3 1 1y x= - +; ʤ) 3 1 1y x= + -; ʥ) 3 | |y x= . 

 

2. ʉʨʝʜʠ ʧʝʨʝʯʠʩʣʝʥʥʳʭ ʥʠʞʝ ʬʫʥʢʮʠʡ ʫʢʘʞʠʪʝ ʪʫ, ʛʨʘʬʠʢ 

ʢʦʪʦʨʦʡ ʠʟʦʙʨʘʞʸʥ ʥʘ ʨʠʩʫʥʢʝ. 

 

ʘ) 3y x= ; ʙ) 3y x= -; ʚ)  3 1y x= +; ʛ) 3 1y x=- +; ʜ) 3 1y x= -; 

ʝ) 3 1y x= - +; ʞ) 3 1y x= +; ʟ) 3 1y x=- +; ʠ) 3 1y x= -; ʢ) 3 1y x=- -; 

ʣ) 3 1 1y x= - +; ʤ) 3 1 1y x= + -; ʥ) 3 | |y x= . 

 

3. ʉʨʝʜʠ ʧʝʨʝʯʠʩʣʝʥʥʳʭ ʥʠʞʝ ʬʫʥʢʮʠʡ ʫʢʘʞʠʪʝ ʪʫ, ʛʨʘʬʠʢ 

ʢʦʪʦʨʦʡ ʠʟʦʙʨʘʞʸʥ ʥʘ ʨʠʩʫʥʢʝ. 

 

ʘ) 3y x= ; ʙ) 3y x= -; ʚ) 3 1y x=- +; ʛ)  3 1y x= +; ʜ) 3 1y x= -; 

ʝ) 3 1y x= - +; ʞ) 3 1y x= +; ʟ) 3 1y x=- +; ʠ) 3 1y x= -; ʢ) 3 1y x=- -; 

ʣ) 3 1 1y x= - +; ʤ) 3 1 1y x= + -; ʥ) 3 | |y x= . 
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4. ʉʨʝʜʠ ʧʝʨʝʯʠʩʣʝʥʥʳʭ ʥʠʞʝ ʬʫʥʢʮʠʡ ʫʢʘʞʠʪʝ ʪʫ, ʛʨʘʬʠʢ 

ʢʦʪʦʨʦʡ ʠʟʦʙʨʘʞʸʥ ʥʘ ʨʠʩʫʥʢʝ. 

 

ʘ) 3y x= ; ʙ) 3y x= -; ʚ) 3 1y x=- +; ʛ)  3 1y x= +; ʜ) 3 1y x= -; 

ʝ) 3 1y x= - +; ʞ) 3 1y x= +; ʟ) 3 1y x=- +; ʠ) 3 1y x= -; ʢ) 3 1y x=- -; 

ʣ) 3 1 1y x= - +; ʤ) 3 1 1y x= + -; ʥ) 3 | |y x= . 

 

5. ʉʨʝʜʠ ʧʝʨʝʯʠʩʣʝʥʥʳʭ ʥʠʞʝ ʬʫʥʢʮʠʡ ʫʢʘʞʠʪʝ ʪʫ, ʛʨʘʬʠʢ 

ʢʦʪʦʨʦʡ ʠʟʦʙʨʘʞʸʥ ʥʘ ʨʠʩʫʥʢʝ. 

 

ʘ) 3y x= ; ʙ) 3y x= -; ʚ)  3 1y x= +; ʛ) 3 1y x=- +; ʜ) 3 1y x= -; 

ʝ) 3 1y x= - +; ʞ) 3 1y x= +; ʟ) 3 1y x=- +; ʠ) 3 1y x= -; ʢ) 3 1y x=- -; 

ʣ) 3 1 1y x= - +; ʤ) 3 1 1y x= + -; ʥ) 3 | |y x= . 

 

6. ʉʨʝʜʠ ʧʝʨʝʯʠʩʣʝʥʥʳʭ ʥʠʞʝ ʬʫʥʢʮʠʡ ʫʢʘʞʠʪʝ ʪʫ, ʛʨʘʬʠʢ 

ʢʦʪʦʨʦʡ ʠʟʦʙʨʘʞʸʥ ʥʘ ʨʠʩʫʥʢʝ. 

 

ʘ) 3y x= ; ʙ) 3y x= -; ʚ)  3 1y x= +; ʛ) 3 1y x=- +; ʜ) 3 1y x= -; 

ʝ) 3 1y x= +; ʞ) 3 1y x=- +; ʟ) 3 1y x= -; ʠ) 3 1y x=- -; ʢ) 3 1y x= - +; 

ʣ) 3 1 1y x= - +; ʤ) 3 1 1y x= + -; ʥ) 3 | |y x= . 
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7. ʉʨʝʜʠ ʧʝʨʝʯʠʩʣʝʥʥʳʭ ʥʠʞʝ ʬʫʥʢʮʠʡ ʫʢʘʞʠʪʝ ʪʫ, ʛʨʘʬʠʢ 

ʢʦʪʦʨʦʡ ʠʟʦʙʨʘʞʸʥ ʥʘ ʨʠʩʫʥʢʝ. 

 

ʘ) 3y x= ; ʙ) 3y x= -; ʚ)  3 1y x= +; ʛ) 3 1y x=- +; ʜ) 3 1y x= -; 

ʝ) 3 1y x= - +; ʞ) 3 1y x= +; ʟ) 3 1y x=- +; ʠ) 3 1y x= -; ʢ) 3 1y x=- -; 

ʣ) 3 1 1y x= - +; ʤ) 3 1 1y x= + -; ʥ) 3 | |y x= . 

8. ʉʨʝʜʠ ʧʝʨʝʯʠʩʣʝʥʥʳʭ ʥʠʞʝ ʬʫʥʢʮʠʡ ʫʢʘʞʠʪʝ ʪʫ, ʛʨʘʬʠʢ 

ʢʦʪʦʨʦʡ ʠʟʦʙʨʘʞʸʥ ʥʘ ʨʠʩʫʥʢʝ. 

 

ʘ) 3y x= ; ʙ) 3y x= -; ʚ)  3 1y x= +; ʛ) 3 1y x=- +; ʜ) 3 1y x= -; 

ʝ) 3 1y x= - +; ʞ) 3 1y x= +; ʟ) 3 1y x=- +; ʠ) 3 1y x= -; ʢ) 3 1y x=- -; 

ʣ) 3 1 1y x= - +; ʤ) 3 1 1y x= + -; ʥ) 3 | |y x= . 

9. ʉʨʝʜʠ ʧʝʨʝʯʠʩʣʝʥʥʳʭ ʥʠʞʝ ʬʫʥʢʮʠʡ ʫʢʘʞʠʪʝ ʪʫ, ʛʨʘʬʠʢ 

ʢʦʪʦʨʦʡ ʠʟʦʙʨʘʞʸʥ ʥʘ ʨʠʩʫʥʢʝ. 

 

ʘ) 3y x= ; ʙ) 3y x= -; ʚ)  3 1y x= +; ʛ) 3 1y x=- +; ʜ) 3 1y x= -; 

ʝ) 3 1y x= - +; ʞ) 3 1y x= +; ʟ) 3 1y x=- +; ʠ) 3 1y x=- -; ʢ) 

3 1 1y x= - +; ʣ) 3 1 1y x= + -; ʤ) 3 1y x= -; ʥ) 3 | |y x= . 
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10. ʉʨʝʜʠ ʧʝʨʝʯʠʩʣʝʥʥʳʭ ʥʠʞʝ ʬʫʥʢʮʠʡ ʫʢʘʞʠʪʝ ʪʫ, ʛʨʘʬʠʢ 

ʢʦʪʦʨʦʡ ʠʟʦʙʨʘʞʸʥ ʥʘ ʨʠʩʫʥʢʝ. 

 

ʘ) 3y x= ; ʙ) 3y x= -; ʚ)  3 1y x= +; ʛ) 3 1y x=- +; ʜ) 3 1y x= -; 

ʝ) 3 1y x= - +; ʞ) 3 1y x= +; ʟ) 3 1y x=- +; ʠ) 3 1y x= -; ʢ) 3 1y x=- -; 

ʣ) 3 1 1y x= - +; ʤ) 3 1 1y x= + -; ʥ) 3 | |y x= . 

11. ʉʨʝʜʠ ʧʝʨʝʯʠʩʣʝʥʥʳʭ ʥʠʞʝ ʬʫʥʢʮʠʡ ʫʢʘʞʠʪʝ ʪʫ, ʛʨʘʬʠʢ 

ʢʦʪʦʨʦʡ ʠʟʦʙʨʘʞʸʥ ʥʘ ʨʠʩʫʥʢʝ. 

 

ʘ) 3y x= ; ʙ) 3y x= -; ʚ)  3 1y x= +; ʛ) 3 1y x=- +; ʜ) 3 1y x= -; 

ʝ) 3 1y x= - +; ʞ) 3 1y x= +; ʟ) 3 1y x=- +; ʠ) 3 1y x= -; ʢ) 3 1y x=- -; 

ʣ) 3 1 1y x= - +; ʤ) 3 1 1y x= + -; ʥ) 3 | |y x= . 

12. ʉʨʝʜʠ ʧʝʨʝʯʠʩʣʝʥʥʳʭ ʥʠʞʝ ʬʫʥʢʮʠʡ ʫʢʘʞʠʪʝ ʪʫ, ʛʨʘʬʠʢ 

ʢʦʪʦʨʦʡ ʠʟʦʙʨʘʞʸʥ ʥʘ ʨʠʩʫʥʢʝ. 

 

ʘ) 3y x= ; ʙ) 3y x= -; ʚ)  3 1y x= +; ʛ) 3 1y x=- +; ʜ) 3 1y x= -; 

ʝ) 3 1y x= - +; ʞ) 3 1y x= +; ʟ) 3 1y x=- +; ʠ) 3 1y x= -; ʢ) 3 1y x=- -; 

ʣ) 3 1 1y x= - +; ʤ) 3 1 1y x= + -; ʥ) 3 | |y x= . 
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ʊʨʝʥʠʨʦʚʦʯʥʘʷ ʨʘʙʦʪʘ 9 

1. ʉʨʝʜʠ ʧʝʨʝʯʠʩʣʝʥʥʳʭ ʥʠʞʝ ʬʫʥʢʮʠʡ ʫʢʘʞʠʪʝ ʪʫ, ʛʨʘʬʠʢ 

ʢʦʪʦʨʦʡ ʠʟʦʙʨʘʞʸʥ ʥʘ ʨʠʩʫʥʢʝ. 

 

 

 
 

 

ʘ) 2 xy -= ; ʙ) 2xy= ; ʚ)  2xy=-; ʛ)  2 xy -=- ; ʜ)  2 1xy= -; ʝ)  

2 1xy -= -; ʞ) 2 1xy=- +; ʟ) 2 1xy -=- +; ʠ) 12xy += ; ʢ) 12 xy - += ; ʣ) 
12xy -= ; ʤ) 12 xy - -= . 

 

2. ʉʨʝʜʠ ʧʝʨʝʯʠʩʣʝʥʥʳʭ ʥʠʞʝ ʬʫʥʢʮʠʡ ʫʢʘʞʠʪʝ ʪʫ, ʛʨʘʬʠʢ 

ʢʦʪʦʨʦʡ ʠʟʦʙʨʘʞʸʥ ʥʘ ʨʠʩʫʥʢʝ. 

 

 
 

 

ʘ) 2xy= ; ʙ)  2xy=-; ʚ)  2 xy -=- ; ʛ) 2 xy -= ; ʜ)  2 1xy= -; ʝ)  

2 1xy -= -; ʞ) 2 1xy=- +; ʟ) 2 1xy -=- +; ʠ) 12xy += ; ʢ) 12 xy - += ; ʣ) 
12xy -= ; ʤ) 12 xy - -= . 
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3. ʉʨʝʜʠ ʧʝʨʝʯʠʩʣʝʥʥʳʭ ʥʠʞʝ ʬʫʥʢʮʠʡ ʫʢʘʞʠʪʝ ʪʫ, ʛʨʘʬʠʢ 

ʢʦʪʦʨʦʡ ʠʟʦʙʨʘʞʸʥ ʥʘ ʨʠʩʫʥʢʝ. 

 

 

ʘ) 2xy= ; ʙ) 2 xy -= ; ʚ)  2xy=-; ʛ)  2 xy -=- ; ʜ)  2 1xy= -; ʝ)  

2 1xy -= -; ʞ) 2 1xy=- +; ʟ) 2 1xy -=- +; ʠ) 12xy += ; ʢ) 12 xy - += ; ʣ) 
12xy -= ; ʤ) 12 xy - -= . 

 

4. ʉʨʝʜʠ ʧʝʨʝʯʠʩʣʝʥʥʳʭ ʥʠʞʝ ʬʫʥʢʮʠʡ ʫʢʘʞʠʪʝ ʪʫ, ʛʨʘʬʠʢ 

ʢʦʪʦʨʦʡ ʠʟʦʙʨʘʞʸʥ ʥʘ ʨʠʩʫʥʢʝ. 

 

 
 

ʘ) 2xy= ; ʙ) 2 xy -= ; ʚ)  2xy=-; ʛ)  2 xy -=- ; ʜ)  2 1xy= -; ʝ)  

2 1xy -= -; ʞ) 2 1xy=- +; ʟ) 2 1xy -=- +; ʠ) 12xy += ; ʢ) 12 xy - += ; ʣ) 
12xy -= ; ʤ) 12 xy - -= . 
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5. ʉʨʝʜʠ ʧʝʨʝʯʠʩʣʝʥʥʳʭ ʥʠʞʝ ʬʫʥʢʮʠʡ ʫʢʘʞʠʪʝ ʪʫ, ʛʨʘʬʠʢ 

ʢʦʪʦʨʦʡ ʠʟʦʙʨʘʞʸʥ ʥʘ ʨʠʩʫʥʢʝ. 

 

 

 
 

ʘ) 2xy= ; ʙ) 2 xy -= ; ʚ)  2xy=-; ʛ)  2 xy -=- ; ʜ) 2 1xy -= -; ʝ) 

2 1xy=- +; ʞ) 2 1xy -=- +; ʟ) 2 1xy= -; ʠ) 12xy += ; ʢ) 12 xy - += ; ʣ) 
12xy -= ; ʤ) 12 xy - -= . 

 

6. ʉʨʝʜʠ ʧʝʨʝʯʠʩʣʝʥʥʳʭ ʥʠʞʝ ʬʫʥʢʮʠʡ ʫʢʘʞʠʪʝ ʪʫ, ʛʨʘʬʠʢ 

ʢʦʪʦʨʦʡ ʠʟʦʙʨʘʞʸʥ ʥʘ ʨʠʩʫʥʢʝ. 

 

 

 
 

ʘ) 2xy= ; ʙ) 2 xy -= ; ʚ)  2xy=-; ʛ)  2 xy -=- ; ʜ)  2 1xy= -; ʝ)  

2 1xy -= -; ʞ) 2 1xy=- +; ʟ) 2 1xy -=- +; ʠ) 12xy += ; ʢ) 12 xy - += ; ʣ) 
12xy -= ; ʤ) 12 xy - -= . 
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7. ʉʨʝʜʠ ʧʝʨʝʯʠʩʣʝʥʥʳʭ ʥʠʞʝ ʬʫʥʢʮʠʡ ʫʢʘʞʠʪʝ ʪʫ, ʛʨʘʬʠʢ 

ʢʦʪʦʨʦʡ ʠʟʦʙʨʘʞʸʥ ʥʘ ʨʠʩʫʥʢʝ. 

 

 
 

ʘ) 2xy= ; ʙ) 2 xy -= ; ʚ)  2xy=-; ʛ)  2 xy -=- ; ʜ) 2 1xy=- +; ʝ)  

2 1xy= -; ʞ)  2 1xy -= -; ʟ) 2 1xy -=- +; ʠ) 12xy += ; ʢ) 12 xy - += ; ʣ) 
12xy -= ; ʤ) 12 xy - -= . 

 

8. ʉʨʝʜʠ ʧʝʨʝʯʠʩʣʝʥʥʳʭ ʥʠʞʝ ʬʫʥʢʮʠʡ ʫʢʘʞʠʪʝ ʪʫ, ʛʨʘʬʠʢ 

ʢʦʪʦʨʦʡ ʠʟʦʙʨʘʞʸʥ ʥʘ ʨʠʩʫʥʢʝ. 

 

 
 

ʘ) 2xy= ; ʙ) 2 xy -= ; ʚ)  2xy=-; ʛ)  2 xy -=- ; ʜ)  2 1xy= -; ʝ)  

2 1xy -= -; ʞ) 2 1xy=- +; ʟ) 2 1xy -=- +; ʠ) 12xy += ; ʢ) 12 xy - += ; ʣ) 
12xy -= ; ʤ) 12 xy - -= . 
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9. ʉʨʝʜʠ ʧʝʨʝʯʠʩʣʝʥʥʳʭ ʥʠʞʝ ʬʫʥʢʮʠʡ ʫʢʘʞʠʪʝ ʪʫ, ʛʨʘʬʠʢ 

ʢʦʪʦʨʦʡ ʠʟʦʙʨʘʞʸʥ ʥʘ ʨʠʩʫʥʢʝ. 

 

 
 

ʘ) 2xy= ; ʙ) 2 xy -= ; ʚ)  2xy=-; ʛ)  2 xy -=- ; ʜ)  2 1xy= -; ʝ)  

2 1xy -= -; ʞ) 2 1xy=- +; ʟ) 2 1xy -=- +; ʠ) 12 xy - += ; ʢ) 12xy += ; ʣ) 
12xy -= ; ʤ) 12 xy - -= . 

 

10. ʉʨʝʜʠ ʧʝʨʝʯʠʩʣʝʥʥʳʭ ʥʠʞʝ ʬʫʥʢʮʠʡ ʫʢʘʞʠʪʝ ʪʫ, ʛʨʘʬʠʢ 

ʢʦʪʦʨʦʡ ʠʟʦʙʨʘʞʸʥ ʥʘ ʨʠʩʫʥʢʝ. 

 

 
 

ʘ) 2xy= ; ʙ) 2 xy -= ; ʚ)  2xy=-; ʛ)  2 xy -=- ; ʜ)  2 1xy= -; ʝ)  

2 1xy -= -; ʞ) 2 1xy=- +; ʟ) 2 1xy -=- +; ʠ) 12xy += ; ʢ) 12xy -= ; ʣ) 
12 xy - -= ; ʤ) 12 xy - += . 
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11. ʉʨʝʜʠ ʧʝʨʝʯʠʩʣʝʥʥʳʭ ʥʠʞʝ ʬʫʥʢʮʠʡ ʫʢʘʞʠʪʝ ʪʫ, ʛʨʘʬʠʢ 

ʢʦʪʦʨʦʡ ʠʟʦʙʨʘʞʸʥ ʥʘ ʨʠʩʫʥʢʝ. 

 

 
 

ʘ) 2xy= ; ʙ) 2 xy -= ; ʚ)  2xy=-; ʛ)  2 xy -=- ; ʜ)  2 1xy= -; ʝ)  

2 1xy -= -; ʞ) 2 1xy=- +; ʟ) 2 1xy -=- +; ʠ) 12xy += ; ʢ) 12 xy - += ; ʣ) 
12xy -= ; ʤ) 12 xy - -= . 

 

12. ʉʨʝʜʠ ʧʝʨʝʯʠʩʣʝʥʥʳʭ ʥʠʞʝ ʬʫʥʢʮʠʡ ʫʢʘʞʠʪʝ ʪʫ, ʛʨʘʬʠʢ 

ʢʦʪʦʨʦʡ ʠʟʦʙʨʘʞʸʥ ʥʘ ʨʠʩʫʥʢʝ. 

 

 
 

ʘ) 2xy= ; ʙ) 2 xy -= ; ʚ)  2xy=-; ʛ)  2 xy -=- ; ʜ)  2 1xy= -; ʝ)  

2 1xy -= -; ʞ) 2 1xy=- +; ʟ) 2 1xy -=- +; ʠ) 12 xy - -= ; ʢ) 12xy += ; ʣ) 
12 xy - += ; ʤ) 12xy -= . 
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ʊʨʝʥʠʨʦʚʦʯʥʘʷ ʨʘʙʦʪʘ 10 

1. ʉʨʝʜʠ ʧʝʨʝʯʠʩʣʝʥʥʳʭ ʥʠʞʝ ʬʫʥʢʮʠʡ ʫʢʘʞʠʪʝ ʪʫ, ʛʨʘʬʠʢ 

ʢʦʪʦʨʦʡ ʠʟʦʙʨʘʞʸʥ ʥʘ ʨʠʩʫʥʢʝ. 

 

 

 
 

 

ʘ) 2logy x=- ; ʙ) 2log ( )y x= -; ʚ) 2log ( )y x=- -; ʛ) 2logy x= ; ʜ)  

2log 1y x= -; ʝ) 2log 1y x=- -; ʞ) 2log ( ) 1y x= - -; ʟ) 2log ( ) 1y x=- - -; ʠ) 

2log 1y x= +; ʢ) 2log 1y x=- +; ʣ) 2log ( ) 1y x= - +;  ʤ) 2log ( 1)y x= +; ʥ) 

2log (1 )y x= -; ʦ) ; ʧ) . 

 

2. ʉʨʝʜʠ ʧʝʨʝʯʠʩʣʝʥʥʳʭ ʥʠʞʝ ʬʫʥʢʮʠʡ ʫʢʘʞʠʪʝ ʪʫ, ʛʨʘʬʠʢ 

ʢʦʪʦʨʦʡ ʠʟʦʙʨʘʞʸʥ ʥʘ ʨʠʩʫʥʢʝ. 

 

 
 

 

ʘ) 2logy x= ; ʙ) 2logy x=- ; ʚ) 2log ( )y x= -; ʛ) 2log ( )y x=- -; ʜ)  

2log 1y x= -; ʝ) 2log 1y x=- -; ʞ) 2log ( ) 1y x= - -; ʟ) 2log ( ) 1y x=- - -; ʠ) 

2log 1y x= +; ʢ) 2log 1y x=- +; ʣ) 2log ( ) 1y x= - +;  ʤ) 2log ( 1)y x= +; ʥ) 

2log (1 )y x= -; ʦ) ; ʧ) . 


